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� !������
 ��
���%$ ��
���
 ���( 

 �� ��� !
��%$
%������
 �	������ %
�& 	
�$����
& 


���
�
� �
 
	�������
�
 %
� �'�%��
�
�
� �� ��*
������

B



�������� 	

�	���� �������	 � ������

������� ��������

1�� 	
��
 %�($�
��& 	�����$(�
�
� �'
�	��%$ %$	��
 !
��%$ �
�
%�������%$ ���
��
���%�� 	
��
��������& �	 � �	���� %
� �� %����� ������� �	��'��� ��' 	��!���
*
��� ��� �	������ � 
 �	������
��%"
 ���
!���"
 %
� ��� �%������� � 
 	
�
���� 
�
<���%$& 


(����
� � ������� � 
 ��
���� 
 ����
�"
 
& � 	�

%
� 

$�'��� ��� ��
*
�	��$� ��' ��
����' 	
��
�������� (ANOV A) %
� � �'
�������� 	������������ R2

(Weisberg2005)� 23	���
& 	
��'��$)��
� � �

��
 ��� ������,�
� ���'� �%������� ��'
��
����' (Draper, Smith1981)& ������
�� !
��%�� '	��������%�� �������& �
 %'������

%������
 �	������ ��' %
�$�����' '	��'
���' � 
 ���
!���"
 %
�& �����& 


���
�
�
����� !
��%�� ������	��%�� �������� (Hocking1976)�

1� 	����� 	���	�"���� ��
 ��
���%� ����� ��

� 	�������  � 	��� ��
 	�����
(� ���
��$������ ��
� ���
!����� 
	� ��
 � 	����������� $���� ���
!������ C	�����'�� ���
��
����'�� n 	
�
�������� 
	� �

 ��
��� p �	������
��%"
 ���
!���"
 X1, X2, ..., Xp

	�' ���$��'�� /9��	�� n ≥ p + 10� 5�
����'�� �	���� ��
 ��
�����
� ���
!���� Y &
�����
 "��� � j*���� �'
���"�
 ���& Yj& �� j = 1, 2, ...n& 

 %
����)��
� 
	� �� �����-

Yj = β0 +

p∑
i=1

βiXij + ej /���0

�	�' �� Xij �%(�$)�� ��
 ���� ��� Xi ���
!����� ��
 ��
 j*���� 	
�
������& �
" �
 β0

%
� βi& i = 1, ..., p& �%(�$)�'
 �� ��
���� ��� ��' ��
����' %
� ��'� �'
�������� � 

���
!���"
 Xi& i = 1, ..., p 

�������
� 4
 '	����	
 /�($��
�
0 ej '	�����'�� ��� ��

�


��$����
 %
�

�����

 /�'
�� � 
%���'���
 ��
 %

�
�%� %
�

���0 �� ���� ����
; %
� $�
 ��� ��
�	��$ σ2� /+� ����� ������' Xij ��

� �'
�� � %
�������
�� �����&

��$ �� 	����� 	���	�"���� ��

� 	���������� 

 ��� �� ����� �'�
��� ���
!����� %
� 


�� ����'�� ��
 %��
� %
�

��� � 
 Y %
� X1, X2, ..., Xp& ��
 	
�$�����
 	��'���
!����
%

�
�%�0� C	�����'�� �	�	���
 ��� �� ���
!����� X1, X2, ..., Xp 	������'
 ���� ��� 
	
*
�
������ ��
 �� 	��!���$ �
� ���
!����� 	
���� 	�' �
�����
� 

 �'�	����
�!$
�
�
�
�� 
'��� %
� ������
�� 
���

��� ���
!������

4� ��
���� /���0 �'�
$ �%(�$)��
� �� �� ���(� 	�
$% 
  � ����-

�



Y = Xβ + e, /���0

�� Ee = 0 %
� V ar(e) = E(ee′) = σ2I�
3�"& Y ��

� �� n*��$��
�� ��$
'��
 � 
 	
�
�������
 
 ���"
 ��� ��
�����
�� ��*

�
!������ + 	�

%
� X& 	�' �
��$)��
� ??������� ��	
���
�� (Design Matrix)@@& ����
��$��
�� n×(p+1) %
� �$�� p+1& �
" � 	�"�� ��' ����� 

��������� ��� ��
���� ��� β0

%
� �
 �������
 ��� ��

� ��
$���� 4� β ��

� �� (p+1)*��$��
�� ��$
'��
 � 
 
�
"�� 

�'
������"
 	
��
��������& �	�' �'�	����
�!$
��
� %
� �� β0� 1� ����%�� 	���	�"����&
��

� �'%������� 

 '	�����'�� ��� �� ����� � 
 �	������
��%"
 ���
!���"
 
��$ %
�
��� ��
�����
�� ���
!����� ���'
 �%(�
����  � 
	�%������ 
	� ��� �����
��%�� �����
����� ��
 %$�� ���
!����� 1� $���� 	���	�"���� '	�����'�� �	�	���
 ��� ���'
 $����*
��
 ����
�"
 
 ��� �� � ��
 %$�� ���
!����� 1� ������� 	���	�"����& �������	������
�� ����� /���0 ��
 

 �%(�$��'�� �� ��
����& 
��$ ��
�)�'�� ��� � n × p 	�

%
� ��

�

'�� �� (��$ � D	���
������
��: (adjusted) 	�

%
� �����
���� � � D%

�
�%�	�����*

��: (standardized) 	�

%
� �����
�����

�5�5 �� !"!� ���0$�)-+ 6�)��'*+-+

4� )������
� ��

� 

 �'��� �� 	��!���$ �
�& ���
�� 

 	������������ �� ��$
'��

β ��� ��
���� /���0 ���� "��� �� �($��
 e 

 ��

� ��$������ � �'
���� ������� ��
 


��
�� 
'�� ��

� 
'�� � 
 ��
���� 
 ����
�"
 
� � ������� 
'�� 
	
���� �� $������

����
�"
 
 � 
 �(
��$� 
& �� �	��� �
 �'�!���)�'�� ��� ���� �� RSS (Residual Sum
of Squares) 

 ��
��
� ��$������ 4
 �%���"��

 βi 	�' �
 	��%�,�'
& �'�!���)�
�
�

�� β̂i %
� �� ��
���� 	
��
�� �� ���(�-

Ŷ = β̂0 + β̂1X1 + β̂2X2 + . . . + β̂pXp /��=0

�	�' Ŷ ��

� � �%������ ��� 	�
��
��%�� ����� ��' Y ��
 �����

 X1, X2, ..., Xp�
1%�	�� �
� ���	�
 ��

� 

 ��
�����	�����'�� �
 
������
�
-

RSS =
n∑

j=1

e2
j =

n∑
j=1

(Yj − β0 −
p∑

i=1

βiXij)
2 = (Y − Xβ)′(Y − Xβ) /���0

E
 �	�����'�� ��'� �%������� β̂i 
'���� 	�' �
 �"��'
 ��
 ��$����� ���� ��
 ��
RSS� .� �� !�����
 ��' %�������' ��� 	�"��� %
� ��� �������� 	
�
�"��'& 	��%�	���
� 	
�
%$� ������

X ′Xβ = X ′Y /��B0

<'�� � ����� 	
����$
�� �

 ������
 p + 1 ��
���%"
 ����"�� 
  � 	��� ��� 	
*
�
�����'� β0, β1, ..., βp %
� ����
�
� ��+!+���� �4��*���� (normal equations)� <
 �
	�

%
� X ′X ��

� 

������,����&���� �� ������
 /��B0 ���� ��

��%� ���� ��
-

>



β̂ = (X ′X)−1X ′Y /���0

<
 � X ′X ��

� ��*

������,����&���� � /��B0 ���� $	����� ������ ��� ���(��-

β̂ = (X ′X)−X ′Y + (I − (X ′X)−X ′X)w /��>0

�	�' (X ′X)− ��

� � ��
�%�'��
�� 

������(�� ��' X ′X %
� w �

 
'�
����� ��$
'��
�
1�� �'
����
& ��
 

 �%������'�� �� ���� /���0& '	�����)�'�� �� ���� ���� %
� ��

��
�	��$ ��' β̂� 23��'�� ���	�
-

Eβ̂ = E[(X ′X)−1X ′]E(Y ) = (X ′X)−1X ′Xβ = β /���0

3	����&

V ar(β̂) = E(β̂ − Eβ̂)(β̂ − Eβ̂)′

= E(β̂ − β)(β̂ − β)′ = E[(X ′X)−1X ′e][(X ′X)−1X ′e]′

= (X ′X)−1X ′[E(ee′)]X(X ′X)−1 = (X ′X)−1X ′σ2IX(X ′X)−1

= σ2(X ′X)−1 /���0


(�� β̂ − β = (X ′X)−1X ′Y − β = (X ′X)−1X ′(Xβ + e) − β = (X ′X)−1X ′e.
<
 �'�!�����'�� �� C ��
 	�

%
 (X ′X)−1 %
� cij �
 �������
 ��'&���� � ��
�	��$

��' �%������ β̂i ��� 	
�
�����' βi �
 ��

�-

V ar(β̂i) = σ2cii /���;0

�� i = 0, 1, ..., p�

� �'	�%� 
	�%���� ��' β̂i �
 ��

� ���	�
-

σ(β̂i) = σ
√

cii /����0

�� i = 0, 1, ..., p�

3	����& � �'
��
�	��$ � 
 β̂i %
� β̂j �
 ��

�-

cov(β̂i, β̂j) = σ2cij /����0

��
 i �= j %
� i, j = 0, 1, ..., p�
� 	
�$������ σ2 ���� ������� /���;0*/����0 ��

� $�
 ���& �	��� 	��	�� 

 ��
 �*

%������'��� <(�� �� σ2 ��

� �'��
���%$ �� ���� ����
� 
�%� ??�������@@ � 
 ei& �
�%������� ��'& σ̂2& �
 '	�����)��
� 
	� �� ���� ���� � 
 e2

i � C	� ��
 	��8	����� ��� �

ei ��

� 
�'��������� �'�
��� ���
!����� �� ���� ���� ; %
� %��
� ��
�	��$ σ2& �	������


 	$��'��  � �%������ ��' σ2 �� 	���%� ��' RSS �� ��'� �� �!�� ���% ��$�� (df)
��'& �	�'

df F 	����� 	
�
������ 
 * 	����� 	
�
���� 
 ��� ��
���� Fdim�n − dimΘ
�	�' Θ � 	
�
�����%�� �"����

�



6�
 ��
 	���
	�� 	
��
�������& df = n−p−1& �	��� � �%������� ��' σ2 ��
��
� 
	�
�� �����-

σ̂2 =
ˆRSS

n − p − 1
/���=0

�	�' ˆRSS = ||Y − Xβ̂||2
� 	������
 
'�� %
����
� 
��� �	��������� ����
� (residual mean square �MRS)�

6�
�%$& %$�� $������
 ����
�"
 
 ��
������
� �� ��'� !
����� ���'����
� 	�' 

��*
�������
 �� 
'�� %
����
� 
��� �	��������

<
 ���� '	������� �
� ���'�� �	�	���
 ��� �
 ei 
%���'���
 ��
 %

�
�%� %
�

���&
���� �� MRS �
 ��

� ��
 �'�
�
 ���
!���� 	�' 
%���'��� ��
 %
�

��� χ2 �� n−p−1
!
����� ���'����
� � �'�!���%$-

(n − p − 1)
σ̂2

σ2
∼ χ2

n−p−1 /����0

<
 

��%
�
�����'�� �� σ̂2 ��� ���� ��' σ2 ���
 /���0& !���%�'�� ��
 �%���"��
�

��
�	��$ ��' β̂-

V̂ ar(β̂) = σ̂2(X ′X)−1. /���B0

4�
�)�'�� ��� 

 '	$���� ��
���%� ��$����� ���
�� ������
 
 �	������
��%"
 ��*
�
!���"
& 	
�
������
� �� (
�
���
� ��� ����������

��������� + 	�

%
� X ′X ����
��

� ��*

������,����& �	��� � ����'�
�
 ����� ��
 �	���� 

 �������	������� 3	����&


 '	$���� ���'�� ��$����� ���
�� � 
 ���
!���"
& � ���)�'�
 ��' 	�

%
 X ′X ��

�
	��� ��%��& �	��� �
 �������
 ��' 	�

%
 (X ′X)−1 	
��
�'
 	��� ���$��� �����& �	���*

 � � ��
�	��$ � 
 �'
������"
 	
��
�������� �
 ��

� 	��� ���$��� 4�����' ����'�
	��!���
�
 

����� 	�)�
�
� �� �'��
���� ��
��%
���� 	�' �
 


�'���
 
������
�

�5&5 �+/�%�� 7���#!�/� �!+)��!% ����+"������� 8�$+���� ANOV A9

6�
 ��
 	���
	�� 	
��
�������& � 

$�'�� ��� ��
�	��$� ��' ��
����' ��

� ��

���
�%� 	�' �������	�����
� ��
 

 �'�%��
�'�� ��
���
 	�' 	����
�!$
�'
 ��
(�����%$
��
��
 ���
!���"
� G� !
��%� 	
�$�����
 ��"& �� 	����� ��
����

Y = Xβ + e /����0

�'�%��
��
� �� �� ��
���� 	�' ��
 	����
�!$
�� %
��
 
	� ��� ���
!����� X1, X2, ..., Xp&
���
�� ��

Y = β0�+ e, /���>0

�	�' � ��

� �� n × 1 ��$
'��
 �� �������
 ��
$����

�



.	������ ��%��
 

 
	������'�� ��� ��
 �� ��
���� /���>0 ������ β̂0 = Y %
� ��

RSS ��

� ��� ��
∑n

i=1(Yi − β̂0)
2 =

∑n
i=1(Yi − Y )2& 	������
 	�' �� �'�!���)�'�� ��

SY Y & ���
��-

SY Y =
n∑

i=1

(Yi − Y )2 /����0

6�
 �� ��
���� /����0 � �%������� ��' β ��
��
� 
	� �� ����� /���0 %
� �� RSS 
	�
�� ����� /���0� 9��(

"�& ������ ��� RSS < SY Y %
� � ��
(��$ ��'�-

SSR = SY Y − RSS /����0

�����
� ������
� �	�������� ���� ��� �����
��
���� (Sum of Squares due to Regression)
%
� 
	������ �� $������
 � 
 ����
�"
 
 � 
 ���"
 ��' Y 	�' �������
� 
	� �� ���
��*
���� ��
���� %
� ��
 �������
� 
	� �� ��%������� +� !
���� ���'����
� 	�' �����)�
�
�
�� �� SSR ��

� ���� �� ��'� !
����� ���'����
� ��' SY Y (n − 1) ����
 ��'� !��� ��'
RSS (n − p − 1)& ���
�� n − 1 − (n − p − 1) = p !���

<	� ��
 /���0 �� RSS ��
 β = β̂ ��$(��
�-

RSS = Y ′Y − 2β̂′X ′Y + β̂′X ′Xβ̂

= Y ′Y − 2β̂′X ′Y + β̂′X ′X(X ′X)−1X ′Y

= Y ′Y − 2β̂′X ′Y + β̂′X ′Y

= Y ′Y − β̂′X ′Y /���;0

� ����� /����0 �	���� 

 ��
(���  � ����-

SY Y = Y ′Y − 1

n
(Y ′�)2, /����0

3	����& ������ ���-

n∑
i=1

(Yi − Y )2 = Y ′Y − 1

n
(Y ′�)2 /����0

23	���
& ��� ��� ������ /����0 ������-

SSR = Y ′Y − 1

n
(Y ′�)2 − Y ′Y + β̂′X ′Y = β̂′X ′Y − 1

n
(Y ′�)2 /���=0

<'�$ �
 
	�������
�
 �'
�,�)�
�
� ���
 	
�
%$� 	�

%
 ��� 

$�'��� ��� ��
*
�	��$� ��' ��
����' 	
��
��������& �
 ���� %
�  � 9�

%
� ANOV A (ANalysis Of
V Ariance)�

�;



9��� <������
�
 H
���� .��

4���
�"
 
 (SS) 3��'����
� (df) 4���$� 

 (MS)

9
��
������� SSR = β̂′X ′Y − 1
n
(Y ′1)2 p MSR = SSR

p

��
 X1, X2, ..., Xp

C	����	� RSS = Y ′Y − β̂′X ′Y n − p − 1 MSE = RSS
n−p−1

= σ̂2

/�($��
�
0
1�
��� SY Y = Y ′Y − 1

n
(Y ′1)2 n − 1

.	������ 

 	����������'�� �� ���

��%����
 ��� 	
��
�������� �'�%��
�
�
� ��

���� ��' ����' F = MSR

MSE
�� ��
 %������ ���� Fp,n−p−1,α �� ��$��� ���

��%����
� α�

9�� �'�%�%����

 

 β∗ = (β1, β2, ..., βp)
′& ������'�� �� ����
�%� '	�����

H0 : β∗ = 0,

�


�� ��� �

��
%��%��

H1 : β∗ �= 0,

<
 F > Fp,n−p−1,α& �	������ 

 �'�	��$
�'�� ��� � ����� � 
 ���
!���"
 X1&
X2, ..., Xp 	
����� �

 ���

��%$ %
������ ��
���� 
	� 
'�� 	�' ��
 	������� ��� ��*
�
!����� 
'���& �	��� 
	����	��'�� ��
 '	����� H0 �� ��$��� ���

��%����
� α %
�
�������	������ �� ��
���� /����0� <
 F < Fp,n−p−1,α ��
 ���'�� ���� 

 
	����,�'��
��
 H0& �	��� �������	������ �� ��
���� /���>0� � 
	����� ��� H0 ���
�
�� ��� 
	�
�
 ������

 ��' 	���$�
��� ��
 	��%�	��'
 �	
�%��� �
������� ��
 ��
 �	
��� ��
���%��
������ ���
�� � 
 ���
!���"
 Y %
� X1, X2, ...Xp� <'�� ��
 
	�%����� ��
 �	
��� %$*
	��
� $���� ������& 	��� 	��' 
'��%��& �%����%�� %�	& ���
�� � 
 ��� 
 ���
!���"
� +
����� F �
 
%���'��� %
�

��� Fisher : Fp,n−p−1 

 �
 �($��
�
 
%���'���
 %

�
�%�
%
�

��� N(0, σ2) %
� �	�	���
 � H0 ��

� 
������

�5,5 �%+)����)(� ��!�"�!����!� R2 (Coefficient Of Determination)

<
 ��
�����'�� �� ����� /����0 �� �� SY Y 	��%�	��� ���-

SSR

SY Y
= 1 − RSS

SY Y
/����0

4� 
������� ����� ��� /����0 �%(�$)�� �� 	������ ��� ���
!�������
� ��' Y 	�'
�������
� 
	� ��
 	
��
������� �� ��� ���
!����� X1, X2, ...Xp �� ����� �� �� �'
���%�
���
!�������
 ��' Y � 4� ���� ����� �����
� �� � ����
 ��
 �

	����
�'�
 

�������
���
!�������
� G� �% �����'& ���)�'��  � �%+)����)( #�!�"�!����!� #!���#�(�
#���+"������� R2 ��
 	������
-

R2 =
SSR

SY Y
= 1 − RSS

SY Y
/���B0

4� R2 '	�����)��
� ��%��
 �� �� !�����
 ��' 	�

%
 ANOV A %
� �%(�$)�� �� 	���
���'�� ��

� � ����� ���
�� ��' Y %
� � 
 X1, X2, ...Xp ���( 

 �� �
 ������

 	�'

��



��
����'��� 4� ����
�� ��� 0 ≤ R2 ≤ 1 ���
�
�� ��� ��� 	�� %�
�$ ��� � ��

� ��
R2& ���� 	�� ���'�� ��

� 
'�� � �����& ���
�� ���� %
������ ��

� � 	���
����� ��

������

 �
�& �
" ��� 	����$)�� �� ; ���� ��������� ��

� � 	���
����� 
'���
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� ���%��� %
��� �(
������ 	�' �'
����
� �� ��R2& ��

� � ������
��
���� ����	�
�	���� ����
�����
�� ��������� �����
��
���� R2

a (adjusted coefficient of determination)
	�' ��
��
� 
	� �� �����-

R2
a = 1 − RSS/(n − p − 1)

SY Y/(n − 1)
= 1 − (1 − R2)

n − 1

n − p − 1
/����0

4�
�)�'�� ��� �� R2 ��
 ��

� � %
�$������ ���%��� ��
 

 �'�%��
�'�� �

 ��
����
�� q ���
!����� �� �

 ��
���� �� p < q ���
!�����& �	���� �� R2 
'�$
��
� 	$
�
 ��


��
 
�
 �	������
��%� ���
!���� �������� ��� ��
���� %
� ��
 �	������ 

 !�$��'�� �


� ��� �'�	��
��
 ��
 �� ���

��%����
 ��� ���
!����� 
'���� 1� 

������ �� 
'��&
�� R2

a 
	������ �

 ??	��
�%�	�����
� ����� %
��� �(
������@@ (penalized measure of
goodness of fit)& 
(�� '	$���� 	��

����
 

 	�������'�� ��
 ���
!���� ��� ��
����


 ��� ��� �� R2

a& �	��� 

 �'�	��$
�'�� ��� 
'�� � ���
!���� ��
 ��

� 
	
�
�����
��
 �� ��
����� <
 �� � 
'����� �� R2

a& ���� � ���
!���� 
'�� ��

� ���

��%� ��
 ��
��
���� %
� 	��	�� 

 ��
 �'�	����$!�'�� �� 
'��� <	� �� ����� /����0& 	
�
�������
��� �� R2

a �	���� 

 	$��� %
� 
�
���%�� �����& %
�"� �	���� ��� ��

� 	$
�
 ��%������
��' R2 
(�� � ??	��
�@@ (penalty) n−1

n−p−1
��

� �

� 
������ ���
������� ��' ��

3	����& � �'
�������� 	������������ R2 �	���� 

 �������	������ %
� ��
 ��
 ������
��� '	������ H0 : β∗ = 0 

�� ��' F � 9�$��
��& ��%��
 
	����%
���
� ���-

F =
n − p − 1

p

R2

1 − R2
/���>0

� 
���"�-

R2 =
pF/(n − p − 1)

1 + pF/(n − p − 1)
/����0

�5.5 ���!��:$� (Bias) �)!%� ��)���)��

6
 ��)�'�� ��� ��
 �'�
�
 ���
!���� 4 ��

� �
	�������� 	���
���� ��� 	
�
�����'
θ ��

 ������ E(T ) = θ� 2+	 � 
	�����
�� 
 �����
& /����� ���0& �����"
�
� �� ��
����

Y = Xβ+e& �� EY = Xβ %
� β̂ = (X ′X)−1X ′Y & ������ ��� Eβ̂ = β& ���
�� � �%�������

��
���� 
 ����
�"
 
 β̂ ��

� 
������	��� �%������� ��' β� 4�
�)�'�� ��� �� ����
��

'�� ������ ��
� 

 �� ��
���� 	�' %
�
�%�'$)�'�� ��

� �� � ���& ���
�� ��
 �

������

 	�' ��
����'�� ������ � ����� EY = Xβ� <
 ��
 ��

� �� � ���& ���� ��

�%������� ��

� ������	��%��& ���
�� E(β̂) �= β� � ���� ��� ������,�
�-

bias = E(β̂) − β /����0

��



��
��$�
�& �	 � �
 �����'��& ��� ��
� 
	� �� ��
���� 	�' ���'�� 	���
������& 
��$
�	���� %
� 
	� ��� ����� � 
 �	������
��%"
 ���
!���"
 	�' �������	����
�
� ���'� '*
	����������� 2+�

 �

 	�������
���
� 	���
�
 �������	�����
�& � ������,�
 ��
��$�
�
���� 
	� �� ������ ��' 	���$�
���& ��� %
� 
	� �� ��
�����

23�� ��� 	���
���)�'�� �� ��
����-

E(Y ) = XAβA /��=;0

�	�' XA ��

� � 	�

%
� �����
���� 	�' %
�
�%�'$���%� 
	� ��� 	
�
�������� 	$
 ���
��
��� ���
!���"
 <�

� ������� ��
���� 
 ����
�"
 
 ��
�� ��
 �%������-

β̂A = (X ′
AXA)−1X ′

AY /��=�0

<
 �� ��
���� 
'�� ��

� � ���& ���� ���'�� ���-

E(β̂A) = (X ′
AXA)−1X ′

AE(Y ) = (X ′
AXA)−1X ′

AXAβA = βA /��=�0

2<�
& � β̂A ��

� 
������	��� �%������� ��' βA�

C	�����'�� �"�
 ��� 	���
���)�'�� �

$ �� ��
���� /��=;0 ���� "��� � β̂A 


��
%���'��� 

 ��

� �� ��$
'��
 � 
 �%���"��
 
 �'
������"
� 23�� �"�
 ��� 
'��
�� (��$ � 	�
��
��%� ����� �� ��
 Y ��
 ��

� � /��=;0 
��$ �-

E(Y ) = XAβA + XBβB /��==0

3�" � 	�

%
� �����
���� XB 
(��$ �� ��
��� ���
!���"
 H�
C	$���'
& ���
��& �� ���� XBβB 	�' ��
 �'�	����$!
�� ��� ��
��%
��
 �%�������

	�' %$

��� 9��%�	��� �"�
 ���-

E(β̂A) = (X ′
AXA)−1X ′

AE(Y )

= (X ′
AXA)−1X ′

A(XAβA + XBβB)

= (X ′
AXA)−1X ′

AXAβA + (X ′
AXA)−1X ′

AXBβB

= βA + SβB /��=�0

�	�' � 	�

%
�-

S = (X ′
AXA)−1X ′

AXB /��=B0

%
����
� ������� 
	���� ��� (bias matrix)� 9
�
������� ��� �� ���� SβB 	�' �
�
*
%����)�'
 �� ������,�
 ��
 ��
��"
�
� ��
� 
	� �� 	���
������
� ��
���� %
� �

	�
��
��%$ ��
���
 
��$ �	���� %
� 
	� ��
 �	����� � 
 	�
$% 
 XA %
� XB� 3	���*

 �& �	������ 

 �	�����'�� �
 ��
��
 < %
� H ���� "��� 

 	�����'�� ��
 ��$�����
������,�
�

�=
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4� !
��%� 	��!���$ �
� ��

� 

 	����������'�� �� ����� ���
�� � 
 ���
!���"

Xi& i = 0, 1, ..., t& 	�' ���$��'�� %
� ��� ��
�����
�� ���
!����� Y & �	 � �	���� %
� ��
�'
�'
��� � 
 ���
!���"
 Xi 	�' 	�����$(�� �� !������� ���	� ��
 Y � 23

� 

��%��*
��
�%�� �%�	�� ��� 

$�'��� 
'��� ��

� � �	����� ��' '	��'
���' � 
 ���
!���"
 	�'
�
 �������	�����'�� ���
 ����%� ���� ���

6�
 

 %
�
����'�� �� ��
 �����
 �	�����& ����
)��
��� ��
���
 �� ��$(���'� �'
*
�'
����� � 
 ���
!���"
 ������'� <
 �� 	����� ��'�& t& ��

� ��%��& �	������ 


'	�������'�� ���'� ��'� 2t �'
�'
�����& 
��$ ��
 ���$�
 t& 
'�� ��

� ����� � 
���*
(����

9
�
%$� 	�����$(�'�� ��� %'�������� '	��������%�� ��
��%
���� %
�$ ��� �	���� '*
	�����)�
�
� ������
�� � 
%��
 %
� ���� �� �'

��� �'
�'
���� � 
 '	��'
�� 
 � 

�	������
��%"
 ���
!���"
�

�515�5 <���� !� #� �+�� #���+"�!�(���� (All Possible Regressions)

<
 �� t ��
 ��

� 	��� ���$��& �	������ 

 '	�������'�� ��
 �
 	��

$ ��
���

	�' �	����
 

 %
�
�%�'
����
 
	� �'
�'
����� � 
 �	������
��%"
 ���
!���"
& ��*
�
�� �
 t ��
���
 ��
 �	��
 ��
� ��
 
	� ��� ���
!����� 	����
�!$
��
� ��� ��
����&

�


(
t
2

)
��
���
 ��
 �	��
 ��� ��
� 
	� ��� ���
!����� �'�	����
�!$
�
�
� %���%�

� � %
� �� ��
���� 	�' 	����
�!$
�� ���� ��� ���
!������ C	$���'
 ��� !�!�����
*
(�
 
	�������
��%�� 
��������� 	�' 	
����'
 ������� '	�������� �� 
 � 
 	��

"

��
��� 
�

� !
��%� ���
 ��

� 

 '	�������'�� �
 2t '	���
��
 �� ������ ���	� "��� �
 ��
*
����%$ '	���
��
 	�' '	�����)�'�� 

 ��
(���'
 ���
�� ��'� %
�$ ��
 ���
!�����
.	������ �	���� 

 
	�(���'�� 

 '	�������'�� 	������� 
���%$ 	�������� �	 � ��'�
�'
�������� 	
��
�������� � ��
 	�

%
 (X ′X)−1� 2+	���
 
�������� 	$
� � %� 

 
*
%���'����'�� 	��	�� 

 ���'�� '	:�,� �
� ��� 
	
������� 
	���%�'���& �� 	����� � 

'	�������"
& �� ���
� 	�' �
 ����
���� � '	���������& ��
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� ��
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�

�515&5 �!�%����)���� �� !"!� /Stepwise Methods0

3�
���
� ��' '	��������%�� %����'� ��� 	��������
�� ������'& ���'
 	���
��� ��$*
(���� ������� ��
 ��
 '	�������� �
�� ��%��� ��
� 	����'� � 
 '	��'
�� 
 ���� 	��*
�����
�
� ���� 
	
���(�
�
� ���
!�����& ��
 %$�� (��$& ���( 

 �� �

 	��%
����*
���
� %�������� 4������ ��
��%
����& 	�' �'�
$ 


(���
�
�  � ����!�
������ "���
��
/Stepwise Methods0& � ��)�
�
� �� ��� !
��%�� %
��������- �� Forward Selection
(FS) %
� ��
 Backward Elimination (BE)�

.�
 ��
���� 	�����
(� � 
 ��� 
'�"
 ����� 
 
%���'��� 	
�
%$� �

��



�9 Forward Selection

#
�$ �� ������ 
'��& ��%�
$�� �� �� ��
���� 	�' ��
 	������� %
��
 ���
!����
%
� ��� �'
����
 	�������'�� ��
 ���
!���� �� %$�� !��
 ���� ������ ���' ���� ��
���
!����� �������'
 ���
 ���� �� ���� ����� 

 �%

�	������ �

 %������� ����
�������
� ���
!���� 	�' 	�����)��
� 

 �������� ���
 ���� �� �� �

 !��
 ��

� 
'�� 	�' �

�"��� �� ���
������ ���� F %
� �	�	���
 
'��� � ����� �
 ��

� ���
������� 
	� ��

%
�������
� ����� <'�� ���
�
�� ��� � ���
!���� i 	��������
� ���
 ���� �� � �	��

	����
�!$
�� ��� ��� p �	������
��%�� ���
!����� �(���
 ������-

Fi = max
i

(
RSSp − RSSp+i

σ̂2
p+i

) > Fin /��=�0

3�"& � ���%��� p + i 


(����
� ��� ��
���� 	�' 	����
�!$
�� ��� ��� '	$���'��� p
���
!����� 
��$ %
� �� ���
!���� i 	�' ��������
� �� 
'��& �
" � ���%��� p ���"
�� ��
��
���� �� ��� p ���
!������ � (��� � 
 '	�������"
 ��

� �����
 "��� 

 �� Fin ��

�

�%��$ ���$��& �� '	��������� �
 ����
������
 	��
 �'�	�����(���
 ���� �� ���
!�����
��� ��
����� 1'
�� � �� ����� ���-

Fin = F1,n−p−1,α /��=>0

��
 ��$��� ���

��%����
� α�

�9 Backward Elimination

3�"& 
���)�
�
� �� ��
 ���� �� 	�' 	������� ���� ��� ���
!�����& 
	
���(�'�� ��

�� %$�� !��
� 23���& � ���
!���� �� �� ��%������ ���� F 
	
���(��
� 

 � ����� 
'���
��
 ��	��
$ ��
 %
�������
� ����� 5��
��& � ���
!���� i ��
��$(��
� 
	� ��
 ���� ��
�� p �	������
��%�� ���
!�����& �(���
 ������-

Fi = min
i

(
RSSp−i − RSSp

σ̂2
p

) < Fout /��=�0

3�"& �� RSSp−i ���"
�� �� $������
 � 
 ����
�"
 
 � 
 �(
��$� 
 	�' '	���*
��)��
� ��

 � ���
!���� i ��
��$(��
� 
	� ��
 ��� '	$���'�
 ���� �� p ���
!���"
�
3�

� (

��� ��� 

 �� Fout ��

� 
�%��$ ��%��& �� �
 
	
���(���
 ���� �� ���
!�����

	� �� ��
����� .	������& 

������� �& 

 �� ����'�� ���-

Fout = Fα,1,n−p /��=�0

��
 ��$��� ���

��%����
� α�

'9 2<���� 


(����
5�$(���� �'���
(��� 	�����
�'
 �'�%�%����
�� ��$���� ���

��%����
� α ��
 %$*

�� ������& �
" $���� 	�����
�'
 ��
(�����%$ %������
 ����
������� +� Kennedy %
�
Bancroft /��>�0 
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 �%(�$���� ��
 �� ������,�
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� �� ���� ����
� 
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� BE %$� 
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��%���
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��
(�� ��
 ���
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�
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���� /���
 FS ������0 
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 ��
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 �������'
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���� � �	���� � 	�"�� ���
!���� 	�' ��
��$(��
� ���
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*
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 ��
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�� �
'	$���'
 ��$(��
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�515,5 ���)��)� ;#!��+!�� (Optimal Subsets)
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minimize Q(β)

τ.ω. βi = 0, i ∈ I
/���;0

3�" �� Q(β) = (Y − Xβ)′(Y − Xβ) ��
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 ��
 ���� �� �� p �*
	������
��%�� ���
!����� 	�' �'�!���)��
� �� RSSp� 4
 	�� �'
������

 %������
 ��

�-

�� 4� ���� ����$� 
� � 
 '	����	 
-

RMSp =
RSSp

n − p

�� + �'
�������� 	������������ 	���
	��� 	
��
��������-

R2
p = 1 − RSSp

SY Y

=� + 	���
������
�� �'
�������� 	������������ 	���
	��� 	
��
��������-

R
2

p = 1 − (1 − R2
p)

n − 1

n − p − 1

�� � ���� ��
�	��$ 	��!��,��-

Jp = (n + p)RMSp/n

B� 4� �'
���%� ����
� 
�%� �($��
 � ��
�����%� Cp ��' Mallows /����0-

Cp = RSSp/σ̂
2 + 2p − n

�� + ����� ���� ��' ����' ����
� 
�%�� �($��
���-

Sp = RMSp/(n − p − 1)
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RSS∗
p = e′pD

−1
p ep,

�	�' ep = Y − Ŷp %
� Dp = diag(I − Xp(X
′
pXp)

−1X ′
p)

�� 4� $������
 ����
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 ��� 	��!��,��-

PRESS = e′pD
−2
p ep
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• � Stein shrinkage

• � Ridge regression %
�

• � Principal component regression %
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1.7.1. Stein Shrinkage

C	�����'�� ��� � ��
�����
� %
� �� 

��$������ ���
!����� 
%���'���
 %

�
�%�
%
�

��� �� �
 ���� ����� ������ + Stein /���;0 �� ��� �� �'
$����� 
	"���
�-

L =
(β̃ − β)′Γ(β̃ − β)

σ2
/����0

�	�' Γ ��

� � 	�

%
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�

��� ��� y|x %
�

β̃ �

� �	������	��� �%������� ��' β� <
 �� ����'�� ��� β̃ = β̂& �	�' β̂ ��" ��
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 ���� � �%������� �������� 	��
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�& ���� �
%�
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���
� 
	"���
0 �����
� �� �� ��
���$ t/(n − t − 1)& �	�' t �� 	�����
� 
 �	������
��%"
 ���
!���"
� + Stein ������ ��� � �%�������-

β̃ = (1 − b(1 − R2)

a(1 − R2) + R2
)β̂, /����0

��
 %
�$������ �	������ � 
 a %
� b& ��
�� ��%������ %�
�'
� 
	� ��
 β̂� 1'�%�%����
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�
������ ��� � %�
�'
�� ��
 a = 0 ��

� ��%������� 
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b = (t − 2)/(n − t + 2) %
� 	�����
� ��
 �%������ β̃s = cβ̂& �	�'

c = max[(1 − t − 2

n − t + 2

1 − R2

R2
), 0] /���=0

6� �����%$& � Stein 	�����
�� 
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	��� �� ;� .� $��
 ����
& � β̃s ��

� � ���� ��' 	��!���
���-

⎧⎨
⎩

minimizeβ(β − β̂)′(β − β̂)

τ.ω. β′β ≤ d2

/����0

�	�' � 
%��

 d %
����)��
� 
	� �� ��
���$ c�

1.7.2. Ridge Regression

+�Hoerl %
�Kennard /��>;0 	�����
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 ��
 �%������-

β(k) = (X ′X + kI)−1X ′Y /���B0

�	�' � ��
���$ k %
����)��
� 
	� �� ?I�
�� ridge@@ /ridge trace0& ���
�� �
 ��
(��
�

��' β(k)  � 	��� �� k�

�;
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��%� ��' ������ β� 4��� 

 λi& i = 1, 2, ..., t ��

� �� ��������� ��' X ′X&

	����%
���
� ���-

E[L2
1] = σ2

t∑
i=1

1

λi

/����0

<
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 � 	���������
 
	� �
 λi ��

� 	��� ��%�$& ��

� (

��� ��� �� E[L2
1] �
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� 	���
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 � �%������� β̂ �
 ���� 
	��
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 	�

%
 X ′X� 9�� �'�%�%����

&
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���� 	�' 	������� p ���
!����� %
� σ̂2 ��

� �

� %
�$���*
��� �%������� ��' σ2� + Mallows /����0 ������ ��� 	
��
��������� �� ��%�� ������,�

���'
 Cp 	�' ��

� �����
 ��� �� p& �	���
 � 


)������ 
'��� ��� 	
��
���������� 4�
����'�
�� �'�	��
��
 �
 


�'��� ���
 	
�$��
(� ����

3	���� �� 	����� � 
 '	�������"
 
'�$
��
� �%����%$ �� �� k& '	$���� 

$�%� 



��� ��� �� '	��������%� %����� ��

 �� k ��

� ���$��� 9��(

"�& 
	� ���

(
k
p

)
	
*

��
��������� ������'� p& ��
� ����� �� ���
�
� %
��� %
� �
 ��

� 
'��� �� �� ��$�����
Cp� 9
�
%$� 	�����$(��
� � ��
��%
��
 %
�$ ��
 �	��
 ��
� �

 	������ 
'�"
 � 

'	��'
�� 
 ����$)��
� 

 '	��������� "��� 

 %
��������
 �� )������
�� 	
��
�����*
�����

3�

� ������� 

 


(������� ���
 ��� �� ��' 
������
��� � 
 ����
�"
 
 ��� 
	
��
�������� /SSR �	 � �� �'�!����
�� ��� %�(��0& ��

 
	
���(�'�� r = k−p ���
*
!����� 
	� �� ��
����� 4� ��
��� � 
 r ���
!���"
 ��
 �� �	��� 
'�� � ��� �� ��
��
�
��$����� %
����)�� ��� p ���
!����� 	�' �
 	
�
���
�'
 ��� ��
����� 4� $������
 ��*
��
�"
 
 � 
 �(
��$� 
 /RSS0 ��
 �� ��
���� 	�' 	������� 
'��� ��� p ���
!����� �

��

� ���� ��$������ <
 �'�!�����'�� �� Redp 
'�� �� ��� ��& �� ��
�����%� Cp �	����


 ��
(���-

Cp =
Redp

σ̂2
+ (2p − k)

<
 � i−���� ���
!���� 
	
���(���& � ��� �� ��
��
� 
	� �� ��
���
� σ̂2t2i & �	�'-

�>



t2i =
β̂i

2

σ̂2
β̂i

��

� �� ����$� 
� ��� t−��
�����%�� 	�' �'
����
� �� �� βi� <
 �'�!�����'�� ��
��� �� ��� 
	
���(�� ��� i−����� ���
!����� �� θi, i = 1, ..., k& ���� ������ � �����-

θi = σ̂2t2i

4� 	�"�� !��
 ��� ��
��%
��
� ��

� 

 '	�������'�� �� 	����� ��
���� ��
�
�
� ���
%

�
�%�� ����"���� /���0 %
� �	���
 �
 θi� J ��� 	��������� ��� ��
�%����
�& '	�����'��
��� �� ���
!����� ��

� ������� "��� 

 ������-

θ1 ≤ θ2 ≤ . . . ≤ θk

+	���& �� '	���
��� ������'� k − 1 	�' ���� ��$����� RSS ��

� 
'�� 	�' 	��%�	���
��

 ��
��$,�'�� ��
 	�"�� ���
!����& 
(�� 
'�� ��
�� �� ��%������ θi�

9��
 �'
�����'��& 
� 


(���'�� ��
 ���

��%� �������
 � 
 ����
� 
�%"
 ���("
-
??<
 � ��� �� ��' SSR ��� ��� 
	
���(�� �	���'��	��� '	��'
���' ���
!���"
& ��

�� �	��� � �������� ���%��� ��

� i& ��
 ��

� ���
������ 
	� θi+1& ���� %

�

 '	���*

��� 	�' 	����
�!$
�� ���
!����� �� ���%��� ���
������'� ��' i �� �
 �"��� ��%������
��� ��@@� � ������� 
	
���� �� 	��� p + 1 ��$��
 ��
 %$�� ���� ��' p = 1, ..., k − 2 %
�
����  � ����-

1�� 	�"�� ��$���& '	�����)�'�� �� ��� �� ��' SSR ��� ��� 
	
���(�� � 
 ���
*
!���"
 X1, X2, ..., Xr ��
 r = k − p� <
 
'�� � ��� �� ��
 ��	��
$�� �� θr+1& ���� �
��
��%
��
 ����
��)��
� %
� �� ��
���� 	�' 
	�������
� 
	� ��� p ���
!����� Xr+1, ..., Xk

��

� �� !������� ��
���� ������'� p�
<
 � ��� �� ��' SSR ��� 	�"�� ��$��� ��	��
$�� �� θr+1& 	��� �$�� ��� �������

��$��� �	�' �'�	����
�!$
�'�� �� ���
!���� Xr+1 ���
�� � 
 '	�,�(� 
 ��
 
	
���*

(�� C	�����)�
�
� ���� ��

(
r
1

)
���"���� ��� 
	
���(�� �	���'��	��� '	��'
���' r

���
!���"
 	�' �	������
� 
	� ��� 	�"��� r + 1 %
� �� �	��� 	����
�!$
�� ��
 Xr+1� <


� ��%������ 
	� ��� 1 +

(
r
1

)
���"���� ��
 ��	��
$ �� θr+2& � ��
��%
��
 ����
��)��
�

%
� �� ��
���� 	�' 

��������� ��� ��%������ ��� �� ��

� �� !��������
5�
(�����%$& 	��� �$�� ��� ����� ��$��� �	�' �� ���"���� '	�����)�
�
� ��
 ��
 �


'	���
��
 ������'� r& 	�' �	�����
�
� 
	� ��� 	�"��� r + 2 ���
!����� %
� 	����
�!$*


�'
 �� ���
!���� Xr+2� <'��� �� ���"���� ��

� �'
���%$

(
r + 1

2

)
� � ��$����� 
	�

��� 1+

(
r
1

)
+

(
r + 1

2

)
���"���� � 
 ���"
 	�"� 
 ��
�� 
 �'�%��
��
� �� �� θr+3 %
�

� ��
��%
��
 ����
��)��
� � �'
���)��
� ��� �	���
� ��$��� 

$���
 �� �� 
	�������

��� ���%������

6�
�%$& �� %$�� ��$���& ��� �� q−����& '	�����)�
�
� �'
���%$
(

r + q − 2
q − 1

)
���"���� %
� ������'�� 

 �� !������� '	���
��� ���� �
��	������ 1�� q−���� ��$���& �

��



���
������� ���%��� �� %$�� ���
!���� ��

� � r+q−1 %
� $�
 � 


)����� ����
��)��
�



 � ��$����� 
	� ���
∑q

j=1

(
r + j − 2

j − 1

)
���"���� 	�' '	��������%

 ��
 	�"�
 q

��$��
 ��
 ��	��
$ ��
 θr+q �	��� %
� �� 

�������� ��
���� ��

� �� !�������� <
 ���&
	��� �$�� ��� (q + 1)−���� ��$���& �	�' ����$)�'�� �
 '	���
��
 ������'� r 	�'
	����
�!$
�'
 �� ���
!���� r + q�

23��� 	
�
������� ��� �	$
�
 '	�����)�
�
� ���� ��
∑p+1

j=1

(
r + j − 2

j − 1

)
=

(
k
p

)
	
��
����������

&5&5 �#��!'( ��)����)*+ �� )� �!( ��� #!�%����)��(� #���+"�������
��� �� ���)(��! �#��!'(� )! Cp

+� J.W.Gorman %
� R.J.Toman /����0 �	�������
 %
� 
'��� 

 ���"��'
 �� '	���*
�����%� %����� %
�$ �� ��
��%
��
 


)������ !�������' ��
����' '	�����)�
�
� �


����� ��
� � 
 '	��'
�� 
 � 
 ���
!���"
 %
� �������	��"
�
�  � %������� �	������
�� ��
�����%� Cp�

� ���� �� /���0 	
��
�� �� ���(�-

Ŷ = β̂0 + β̂1X1 + β̂2X2 + . . . + β̂kXk /���0

�	�' �� �'
�������� β̂i, i = 0, 1, ..., k& ���'
 '	��������� 
	� �� ������ � 
 ��
���� 

����
�"
 
� <	
�
����� ��

� � �	����� � 
 ���

��%"
 ���
!���"
�

9��
 �	�������
 �� ���
!�����& 	��	�� 

 ����
����
 �
 ������

 	����%��%$ ��

��
�����%�� �������(��� �	 � � �����
%� �'������� � 
 �(
��$� 
 (serial correlation)&

	�%���� � 
 �(
��$� 
 
	� ��
 %

�
�%� %
�

���& 
%�
��� ����� /outliers0& %
�"� %
�
�'

�����
%�� �'�%����� �	 � �$��� �	����� � 
Xi ���
 	���� ���� ��� +� ��
�����%��

������� �'�
$ �
��	�)�
�
� �� 	����%��%� ����
�� � 
 �(
��$� 
 ���$ ��
 	���
�����
�� 
 � 
 ���
!���"
 ���
 ���� ���

<	� ��� 2k ����"���� 	�' �	������ 

 '	�������'��& 	��	�� 

 �	�������
 ������
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�����' %
��� ����"���� ��
 

 	�����$,�'
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 ������
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 ���"
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�
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 ����$��'�� ��" ��� 2k ����"���� ��

� � 	��'!��
��%� 	
��
�����*
�� /stepwise regression0 	�' 	�����$(�%� ��� 	��������
� %�($�
��& 
��$ �� ��
(���*
��%� %������� ����
������� 5�� ��

� �� !
��%�� 	
�
��
���- � forward selection %
� �
backward elimination� 1�� forward selection& �� �	������
��%�� ���
!����� �������*

�
� ��
 %$�� (��$� 1� %$�� !��
& � ���
!����& ��� � i*����& 	�' ��
�� �� ���
������

��� �� ��� $������
 � 
 ����
�"
 
 � 
 �(
��$� 
 %
� � 	������
 (β̂i/σ̂β̂i
)2 ��	��
$

��
 	���	������
� ���� �	
�
�� ���
 ���� ��� #
�$ �� backward elimination& ��%�
$��
�� ��
 	���� ���� �� %
� 
	
���(�'�� ��� �������� ���

��%�� ���
!����� ��
 %$�� (��$
�� 	
�����
 %������
�

3(���
 � '	��������� � 
 2k ����"�� 
 ��

� ��%�
���%$ 
���(���� 	��	�� 

 !�����

��



9�

%
� ���- 1�
�����%$ <	�������
�
 [J.W.Gorman, R.J.Toman (1966) Selection of
variables for fitting equations to data, Technometrics V ol.8, No1, p.36K

�

� ���	�� 

 
	���
"��'�� ��� %
������� ����"����� + C.Mallows /����0 	�����
� ��

	��� ������� ��
��%
��
 %
�$ ��
 �	��
 �'�%��
�
�
� ��$(���� ����"���� 	
��
���������

4� �'
���%� ����
� 
�%� �($��
 /������	��%� %
� �'�
��0 ��
 n 	
�
�������� ��


�������	������ ��
 ���� �� �����
� ��-

N∑
i=1

(yi − ŷi)
2 +

N∑
i=1

V ar(Ŷpi)

�	�' yi � 	�
��
��%� ���� ��� ��
�����
�� ���
!�����&
ŷi � �%���"��
� ���� ��� yi&
(yi − ŷi) � ������,�
 ���
 i−���� 	
�
������ %
�
L �� 	����� 	
�
������ 
�
4� 	�"�� $������
 �%(�$)�� �� ������	��%� ����
� 
�%� �($��
 �
" �� �������

�%(�$)�� �� �'�
�� ����
� 
�%� �($��
� <
 ����'�� SSB =
∑N

i=1(yi − ŷi)
2 %
� �'�*

!�����'�� �� Γp �� %

�
�%�	�����
� �'
���%� ����
� 
�%� �($��
-

Γp =
SSB

σ2
+

1

σ2

N∑
i=1

V ar(Ŷpi) /��B0

3(���
 ������ ���-
∑n

i=1 V ar(Ŷpi) = pσ2& � /��B0 ��
��
�-

Γp =
SSB

σ2
+ p /���0

1�� �'
����
& �� $������
 ����
�"
 
 � 
 �(
��$� 
& RSSp& 
	� ��
 ���� �� ��
p ���
!����� ���� 


��
���
� ����-

E(RSSp) = SSB + (N − p)σ2

=;



9�

%
� ���- +� ����� � 
 Cp ��
 %$�� '	���
��� ���
!���"
 [J.W.Gorman, R.J.Toman
(1966) Selection of variables for fitting equations to data, Technometrics
V ol.8, No1, p.36]

<���"�-

SSB = E(RSSp) − (N − p)σ2

+	��� � /���0 ��
��
�-

Γp =
E(RSSp)

σ2
− (N − p) + p =

E(RSSp)

σ2
− (N − 2p)

<
 σ̂2 ��

� �

� �%������� ��' σ2& �� ��
�����%� Cp& �� �	��� ��
��
� 
	� �� �����-

Cp =
RSSp

σ̂2
− (N − 2p)

��

� �

� �%������� ��' Γp�
9
�
������� ��� 

 SSB 	 0& ���� E(RSSp) 	 (N − p)σ2& ���
�� �� RSSp =

(N − p)σ̂p
2& �	�' σ̂p

2 �

� �%������� ��� ��
�	��$� σ2
p ��
 ��
 ���� �� p ���
!���"
&

�	���� 

 �� ����� �%������� ��' (N − p)σ2& $�
-

Cp =
(N − p)σ̂p

2

σ̂2
− (N − 2p)

<��$ 

 �� ����'�� ��� σ̂p
2 	 σ̂2& ������-

Cp 	 (N − p) − (N − 2p) = p /��>0

=�



#
�
����'�� ���	�
 ��� �'�	��
��
 ��� 

 �
 Cp 	
�
��
���
 ��
(�%$  � 	���
p& ���� �
 Cp 	�' 

���������
 �� ����"���� �� ��%�� ������,�
 !���%�
�
� %�
�$ ���

�'���
 Cp = p& �
" �
 Cp � 
 ����"�� 
 �� ���$�� ������,�
 !���%�
�
� 	$
 
	�
�� ��
��� 
'��� C	$���� 	���	� �� �

 ������ �� ���
������ Cp 
	� %$	��� $��� 


!���%��
� 	�� %�
�$ ���
 �'���
 Cp = p 
	� �� $���& �	���� �� 	����� � 
 ���
!���"

��

� ���
������� 2<�
& 	�������
�
� ���
!����� 	�' ���"
�'
 �� ������,�
& �	���� 
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	�������
�

����
�'
 ���$��� ��
���%�� ��
������� ���
�� � 
 ���
!���"
� <'�� (
�
��
� 
	� ���
����� � 
 R2

i %
� �(�����
� ���� ���$��� �'��������� � 
 X1 %
� X3& 
��$ %
� � 
 X2

%
� X4� 4� ��$(��
 � 
 Cp  � 	��� �� p '	����%
��� � %
��� ����"����- /�&�&=0& /�&�&�0&
/�&=&�0 %
� /�&�0� 5�
 ��

� �
 ��� 	��$ 
	� 
'��� ��

� � !������� 
��$ 

 ����'�� 



	��'������'�� ��
 ���� ��& 	
��
�'�� ��
 /�&�0�

.	������ ���	�
 ��� ��' Cp*��
�����%�� 

 !����� %
�$������ ����"���� ��� �	��*
�� ����$)�'�� 


�'��%$& �
�!$
�
�
� '	:�,� �� �%�	� ��
 ��
 �	��� �������	������
��
 ����%� ���� �� 
��$ %
� �� 	���� ����"���� ��

� ����%�� %
� 	�
%��%$ ����������

&5,5 �#��!'( ��)����)*+ ���- #���+"������� �������+�� �� �#�+�����
��+���+!%� ���'0!%� ����+)���)�)�� ��� %#!�!'���!�� )�� ���!��:$�� ���
)!% ���!% )�)��'-+��!� �2/���)!� )�� ��)��*��+�� )��(� )�� �4��)���+��
��)����)(�

+� W.J.Kennedy %
� T.A.Bancroft /��>�0 
������
�
� �� ��
 %
�$����� �	�����
��' '	��'
���' � 
 ���
!���"
 	�' �
 �������	������
 �� �

 ��
���� 	��!��,��
�� !$�� ��
����%��� ������'� ���

��%����
�� 9�� �'�%�%����

& �������
 ��� ��
*
(�����%�� ��
��%
���� �	������ ���
!���"
& 	�' %
���
�
� ”Forward Selection” %
�
”Sequential Deletion”� C	�����'�� ��� � ���'
���� ��
����� ��
 %
�$����� �
"��
"��� 

 ��
����� r 
	� ��� k �	������
��%�� ���
!����� ��� �	���� �� ��� ��� 	��	��
�	 ���	��� 

 �'�	����$!�� ��� ��
����� 3	�	���
& �
 ��)�� �� ����$ ���

��%����
�
� 
 '	����	 
 k − r ���
!���"
 %
� ��� ��
�$���� 
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��%�� ����� y ��� ��
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������

C	�����'�� ��� �� ��
���� Y = Xβ + e 	
�$��� �
 ������

 �
�& �	�' Y ��

�
�� n × 1 ��$
'��
 � 
 ���"
 ��� ��
�����
�� ���
!����� ��
 ��� n 	
�
��������& X
��

� � n × (k + 1) 	�

%
� � 
 ���"
 � 
 �	������
��%"
 ���
!���"
 %
� e ��

� ��
n × 1 ��$
'��
 � 
 �(
��$� 
� C	�����'�� �	���� ��� E(ee′) = σ2I %
� ��� � 	�

%
�
X ��

� %

�
�%�	�����
�� "��� X ′X = I� 3�"& �� yi �
 �'�!���)�� ��
 ���� ���
��
�����
�� ���
!����� ��

 i �	������
��%�� ���
!����� 	������
�
� ��� ��
����� 4�
Ai �
 �'�!���)�� �� ����
�� ��� 
	
���(�'�� i ���
!����� 
	� �� ��
�����

4� %������� ��
 ��
 ������ ��� '	������ H0 : βi = 0 ��
 %$	��� i ��

� �� b2
i /υ& �	�'

bi � �%������� ��' �'
������� βi ��� ���
!����� xi& %
� υ = RSS� <	����	��'�� ��

'	����� H0& 

 b2

i /υ ≥ δ = F1,n−k−1,1−a& �
" �� �����
��� ��
(�����%$� 4��� ������
���-

E(ŷ) = E(yk|A0)P (A0) + E(yk−1|A1)P (A1) + ... + E(yr|Ak−r)P (Ak−r) /���0

%
� �	���� �
 bi ��

� 

��$����
 ���'�� ��
 i = r + 1, ..., k ���-

E(yi|Ak−i)P (Ak−i) = [β0 + β1X1 + ... + βi−1Xi−1 + XiE(bi|Ak−i)]P (Ak−i)

%
�

E(yr|Ak−r) = (β0 +
r∑

j=1

βjXj)P (Ak−r)

23�� λi = β2
i /2σ

2& i = r, .., k& %
� Fs(z|λ) � 
�������%� �'
$����� %
�

���� ��� χ2
s

�� 	
�$����� %�
���%����
� λ %
� s !��� 6�
 0 ≤ i < k − r � 	��

����
 P (Ai) ��

�-

Ck−i = P (Ai) =

∫ ∞

0

[
k∏

j=k−i+1

F1(γy|λj)][1 − F1(γy|λk−1)]g(y)dy

==



�	�' γ = δ/m& �� m = n − k − 1& g(y) � σ�	�	� ��� χ2
m %
�

∏k
j=k+1 F1(x|λj) ≡ 1

23�� r(bk−i, bk−i+1, ..., bk, υ) � %��
� 	'%
����
 � 
 ���� bk−i, bk−i+1, ...bk %
� υ� 4���
���'��-

P (Ai) =

∫
B

...

∫
r(bk−i, ..., bk, υ)dυ

k∏
j=k−i

dbj /���0

�	�' B ��

� � 	������ 	�' ���)��
� 
	� �
 y ��
 �
 �	��
 �����'
 �� 

��������- b2
k <

δυ, ..., b2
k−i+1 < δυ %
� b2

k−i ≥ δυ�
<
 	
�
� ����'�� �� Ck−i  � 	��� βk−i& ���'��-

∂Ck−i

∂βk−i

=
βk−i

σ2
[H(Ai) − P (Ai)] /���;0

�	�' H(Ai) =
∫ ∞

0
[
∏k

j=k−i+1 F1(γy|λj)][1 − F3(γy|λk−i)]g(y)dy�
9
�
� ��)�
�
� �� /���0  � 	��� βk−i ���'��-

∂P (Ai)

∂βk−i

=
1

σ2
E(bk−i|Ai)P (Ai) −

βk−i

σ2
P (Ai) /����0

3���"
�
�
� ��� /���;0 %
� /����0& ���'��-

E(bk−i|Ai)P (Ai) = βk−iH(Ai), 0 ≤ i < k − r

<	� ��
 /���0 !���%�'�� �� E(ŷ)� <
 ����'��
∑−1

s=0 P (As) ≡ 0&���� � ������,�

��' ŷ �%(�$)��
� 
	� �� �����-

bias(ŷ) =
k∑

t=r+1

βtXt[
k−t−1∑
s=0

P (As) + H(Ak−t) − 1] /����0

6�
 

 '	�������'�� �"�
 �� ���� ����
� 
�%� �($��
 ��' ŷ& 	��	�� 

 '	�����*
��'�� 
���%$ �� E(ŷ)2� +	���& ���'��-

E(ŷ)2 = E(y2
k|A0)P (A0) + E(y2

k−1|A1)P (A1) + ... + E(y2
r |Ak−r)P (Ak−r) /���=0

3	����& ��
 r < i ≤ k& ���'��-

E(y2
i |Ak−i)P (Ak−i) = [(β0 +

i−1∑
j=1

βjxj)
2 + σ2(1/n +

i−1∑
j=1

x2
j)

+2(β0 +
i−1∑
j=1

βjxj)xiE(bi|Ak−i) + x2
i E(b2

i |Ak−i)]P (Ak−i)

%
�

=�



E(y2
r |Ak−r)P (Ak−r) = [(β0 +

r∑
j=1

βjxj)
2 + σ2(1/n +

r∑
j=1

x2
j)]P (Ak−r)
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� ���� ��' y2
i ��
��$�
� 
	� 
'��
 ��' b2

i � 6�
 

 '	�������'�� ��
E(b2

i |Ak−i)P (Ak−i)& 	
�
� ��)�'�� ��� (���� ��
 /���0  � 	��� �� βk−i %
� ���'��-

∂2P (Ai)

∂β2
k−i

=
1

σ4
[E(b2

k−i|Ai) − 2βk−iE(bk−i|Ai) + β2
k−i − σ2]P (Ai) /����0

+��� �& 	
�
� ��)�
�
� ��� (���� �� Ck−i& ���'��-

∂2Ck−i

∂β2
k−i

=
β2

k−i

σ4
[P (Ai) − 2H(Ai) + T (Ai)] +

1

σ2
[H(Ai) − P (Ai)] /���B0

�	�' T (Ai) =
∫ ∞
0

[
∏k

j=k−i+1 F1(γy|λj)][1 − F5(γy|λk−i)]g(y)dy�
3���"
�
�
� ��� /����0 %
� /���B0 ���'��-

E(b2
k−i|Ai)P (Ai) = β2

k−iT (Ai) + σ2H(Ai)

<
 

��%
�
�����'�� ���
 /���=0 ��� ������� 	�' !��%
��& !���%�'�� ��
 �%(�
��
��
 ��
 E(ŷ)2 �	��� ����%$ �� 
��� �	��������� ����
� ��' ŷ ��

� ��-

MSE(ŷ) = E(ŷ)2 − E2(ŷ) + [bias(ŷ)]2

=
k∑

j=r+1

[(

j−1∑
i=r+1

βixi)
2P (Ak−j) − 2(

k∑
i=r+1

βixi)βjxj

k−j−1∑
j=0

P (As)

+ σ2(1/n +

j−1∑
i=1

x2
i )P (Ak−j) + (σ2x2

j − 2βjxj

k∑
i=1

βixi)H(Ak−j)

+ β2
j x

2
jT (Ak−j)] + σ2(1/n +

r∑
i=1

x2
i )P (Ak−r) + (

k∑
i=r+1

βixi)
2

�	�'
∑k−1

i=k βixi ≡ 0�
<
 δ = 0& ���
�� 

 
	����	��'�� 	$
�
 ��
 H0& ���� ������ ��� MSE(ŷ) =

σ2(1/n +
∑k

i=1 x2
i )� 2+�

 δ → ∞& ���
�� 

 �������	������ 	$
�
 ��
� ��� r 	�"���

���
!����� ��� ��
����& ���� ������ ��� MSE(ŷ) = σ2(1/n+
∑k

i=1 x2
i )+(

∑k
i=r+1 βixi)

2�
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 ��� �� Ai �'�!���)�� �� ����
�� 

 �������'
 i ���
!����� ���

���� ��& '	�����)�'�� �� ����� ���	� �� ������,�
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� �� ���� ����
� 
�%� �($��

��� ŷ� 9��%�	��'
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bias(ŷ) =
k−r∑
i=1

r+i∑
j=r+1

βjxjHj(Ai) −
k∑

i=r+1

βixi

%
�

MSE(ŷ) = σ2(1/n +
r∑

i=1

x2
i ) +

k−r∑
j=1

{
r+j∑

m+r+1

x2
m[β2

mTm(Aj) + σ2Hm(Aj)]

+ 2

j∑
i=r+1

j∑
t=r+2,i<t

βiβtxixtSit(Aj)} − 2(
k∑

i=r+1

βixi)
k−r∑
i=1

r+i∑
j=r+1

βjxjHj(Ai)

+ (
k∑

i=r+1

βixi)
2

�	�'

Sij(At) =

∫ ∞

0

r+t∏
s=r+1,s �=i,j

[1−F1(γy|λs)][1−F3(γy|λi)][1−F3(γy|λj)]F1(γy|λr+t+1)g(y)dy
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 � ��
�	��$ σ2 ��

� �
 ���& �� %������� ������' ��� '	������ βi = 0 ��
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i /σ

2,
i = r + 1, ..., k& �	�' �� bi ��

� � �%������� ��' βi� � '	����� 
'�� 
	����	���
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b2
i /σ

2 ≥ λ /�� �;;
O ������ ��� χ2
1 %
�

����0 �
" ��
(�����%$ 
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� ��%���

4���& � 


��
���
� ���� ��' ŷ ��

�-

E(ŷ) = E(yk|A0)P (A0) + E(yk−1|A1)P (A1) + . . . + E(yr|Ak−r)P (Ak−r)

3	����&

E(yi|Ak−i)P (Ak−i) = [β0 + β1x1 + ... + βi−1xi−1 + xiE(bi|Ak−i)]P (Ak−i)

��
 i = r + 1, r + 2, ..., k %
�

E(yr|Ak−r)P (Ak−r) = [β0 + β1x1 + ... + βrxr]P (Ak−r)


(�� �� �%������� bi ��

� 

$ ��� 

��$������� 23	���
& ���)�'��-

Fi = 2 exp{−1

2
(λ + β2

i /σ
2)} sinh(βi

√
λ/σ)

=>



%
�

Hi = {
∫ −

√
λ−βi/σ

−∞
+

∫ +∞

√
λ−βi/σ

}(1/
√

2π) exp(−z2/2)dz

�� i = r + 1, r + 2, ..., k� 9
�
������� ��� �
 Fi %
� Hi ��

� �'

������� ��
� � 
 λ %
�
βi/σ� <	� ��� '	�������& ���'�� ��� �
 bi 
%���'���
 %

�
�%� %
�

��� �� ���� ����
βi %
� ��
�	��$ σ2& i = 1, 2, ..., k� 3	���
 �-

E(bk|A0)P (A0) =
σ√
2π

Fk + βkHk

%
�

E(bk−i|Ai)P (Ai) =
k∏

j=k−i+1

[1 − Hj][
σ√
2π

Fk−i + βk−iHk−i]

�� i = 1, 2, ..., k − r − 1�

5����
��� ��� ������
∑k−r

j=0 P (Aj) ≡ 1 %
�
∑i

j=0 P (Ak−r−j) ≡
∏k

m=r+i+1[1 − Hm]&
�	��� �	������ 

 ��$,�'�� ���-

E(ŷ) = β0 +
k∑

i=1

βixi +
k∑

i=r+1

xi

k∏
j=i+1

[1 − Hj][
σ√
2π

Fi − βi(1 − Hi)]

�	�'
∏k

j=r+1(1 − Hj) ≡ 1�
4���%$& �(���
 ����'�� ���-

bias ≡ E(ŷ) − [β0 +
k∑

i=1

βixi]

�
 �����'
 �� �������-

bias =
k∑

i=r+1

xi

k∏
j=i+1

(1 − Hj){(σ/
√

2π)Fi − βi(1 − Hi)}

%
�

bias/σ =
k∑

i=r+1

xi

k∏
j=i+1

(1 − Hj){(1/
√

2π)Fi − (βi/σ)(1 − Hi)} /����0

9
�
������� ��� �
 Fi %
� Hi ��

� �'

������� ��
� ��' λ %
� ��' βi/σ� + ��	��
/����0 ����
�� ��� � 	������
 bias/σ ��

� �'
$����� ��
� � 
 �'
������"
 βi/σ %
� ���
��$���� ���

��%����
� α � 
 	��%
�
���%"
 ����� 
 � 
 '	����� 
� +	���& �� ��
����� � 
 ����%"
 	�
$% 
& '	�����)�'�� $���
 �� ������,�
 ��' ŷ� 3�$���'& �(���
 ��
�%������� bi � 
 βi 
%���'���
 %
�

��� N(βi, σ

2)& �� ����� � 
 bias/σ �
 %'�
�
�
�
�

	� *= � � =� 6�
 
'��
 �� ����& �� 	�

%�� �������	����
 ����� ��� ��$����
 P*=&=K�

=�



1��
 	���	� �� 	�' � ��
�	��$ σ2 ��

� $�
 ���& � ��
��%
��
 ��
 ��
 '	��������
��� ������,�
� ��' ŷ ��
(���� ��
� ��
 %������
 ������' � 
 '	����� 
� 6�
 

 �*
�����'�� 

 βi = 0 �'�%��
�'�� �� b2

i /υ �� �� λ = F1,n−k−1,α& �	�' υ = RSS� 4�
���� ����
� 
�%� �($��
 MSE(ŷ)& ��

 � ��
�	��$ σ2 ��

� �
 ���& '	�����)��
� ��
	
������ ���	� %
� ��
��
� 
	� ��
 ���� ��	�-

MSE(ŷ)

σ2
= (

1

n
+

k∑
i=1

x2
i ) + 2

k∑
i=r+1

xi{
βi

σ
− Fi√

2π(1 − Hi)
}(

k∑
j=1

βj

σ
xj)

k∏
m=i

[1 − Hm]

+
k∑

i=r+1

x2
i {(

√
λ

2π
Gi +

1√
2π

βi

σ
Fi − (

β2
i

σ2
+ 1)(1 − Hi)}

k∏
m=i+1

(1 − Hm)

�	�' Gi = 2 exp{−1
2
(λ + β2

i /σ
2)} cosh(βi

√
λ/σ), i = r + 1, ..., k.

%&,&%& *��
������ -

7
�!$
�
�
� '	:�,� ��'� ����'� �'�!�������� %
� ��� ����� '	�������& '	�����)�'��
�� ������,�
 bias ��' ŷ %
� �� bias/σ ��
 �� ��
��%
��
 H� 2+�

 � ��
�	��$ σ2 ��

�
�
 ���& 	��%�	��� � ���� ��	��-

bias

σ
=

k∑
i=r+1

xi[
1√
2π

Fi

i−1∏
j=r+1

Hj −
βi

σ
(1 −

i∏
j=r+1

Hj)] /���>0

9
�
������� ��� %
� �� 
'�� ��
 	���	� ��& �� bias/σ ��
��$�
� ��
� 
	� ��'�
����'� βi/σ %
� �� α ��� � 
 �'

����� 
 Fi %
� Hi� 3	���
 �& �	������ �

$


 �������	�����'�� ����%��� 	�

%�� �� ��� ��$(���� ����� � 
 βi/σ& ��

 ��� ��

� ��

�(��!������
�� ���
!������ 1��
 	���	� �� 	�' � ��
�	��$ σ2 ��

� $�
 ���& ��

�%���$�� 	$�� �������	��"
�
� �� υ %
� %$
�
�
� 	
������� '	��������

4� ���� ����
� 
�%� �($��
 MSE(ŷ) %
�$ �� ��
��%
��
 H '	�����)��
� �� 	
��*
���� ���	� %
� �������	��"
�
� ��'� ����'� �'�!��������� 9��%�	��� ���� � 	
�
%$� 
��	��-

MSE(ŷ)

σ2
= (

1

n
+

r∑
i=1

x2
i ) − (

k∑
i=r+1

βi

σ
xi)

2

− 2(
k∑

m=r+1

βm

σ
xm)

k∑
i=r+1

xi{
i∏

j=r+1

Hj[
βi

σ
+

Fi√
2πHi

] − βi

σ
}

+ 2
k−1∑

i=r+1

k∑
j=r+2,i<j

xixj

j∏
m=r+1

Hm[
βi

σ
+

Fi√
2πHi

][
βj

σ
+

Fj√
2πHj

]

+
k∑

i=r+1

x2
i

i−1∏
j=r+1

Hj[

√
λ

2π
Gi +

1√
2π

βi

σ
Fi + (1 +

β2
i

σ2
)Hi]

=�



%&,&'& "����������� �	�������

2+��� �� 	
�
	$
 '	��������� ���


 �� ��
 	��8	����� ��� �� �	������
��%�� ��*
�
!����� x1, x2, ..., xk ��

� �����"
���� 3�

� ��%��� 

 
	�������� ��� �� �'

�������
��' bias %
� MSE(ŷ) %
� ���� ��� ��
��%
���� ��

� 

��$������ ��� '	������ 
'����
1� ��
 �����
� ��*�����"
�
 	���	� ��& ��
 	
�
�����%�	����� ��' ��
����' 	�' 	�*
���
�!$
�� ��
���%��� �'
�'
����� � 
 x1, ..., xk %
� ��
���%��� �'
�'
����� � 

β1, β2, ..., βk 
�%�� ��
 

 ���
!���� ��� �
�� ���
����
������ �� �

 
�� ��
���
���
!���"
 (x′

1, x
′
2, ..., x

′
k) %
� �

 
�� ��
��� 	
�
���� 
 (β′

1, β
′
2, ..., β

′
k) �����
 "���

� '	����� ��� ����� 
�����
� 

 �%

�	�����
�� 4���& ��
 �	������	��� ����� � 

xi& ��� x10, x20, ..., xk0 ������ ��� ��' ���
����
������ ���

∑
xi0βi ≡

∑
x′

i0β
′
i %
�∑

xi0bi ≡
∑

x′
i0b

′
i& i = 1, 2, ..., k& �	�' x′

i0, β
′
i %
� b

′
i ��

� �� 

��������� ���
����
�����*


�� ������ 9��(

"�& 
(�� �
 bias %
� MSE(ŷ) ��
��"
�
� 
	� �
 xi, βi %
� bi ��
�
��� ����� 
 
������$� 
 ��
���
 
& 
'��� �� �'

������� 	
�
��
�'
 
���$!�����
���$ 
	� 
'�� ��
 	
�
�����	������

%&,&,& �������� ��� 
�� 
��
�������

<� %$
�'�� �"�
 %$	���� 	
�
�������� %
� �'�%������ 	$
 ���� �'

������� � 

bias/σ %
� MSE � 
 ��� ��
��%
��"
� 1'�!���)�'�� �� δA %
� δB ��
 	������
 bias/σ
��
 �� ��
��%
��
 < %
� �� ��
��%
��
 H 

�������
� .��
 
	� 	
�
�����
�
& �	����


 ��
	��� ��� ��� ���� �� �'
�������� %
� � 
 ��� �'

����� 
 δA %
� δB 
'�$
�
�
�
%
�"� �� α ���"
��
�� 3	����& 

 |βi

σ
| ≤ 2& �� �'
�������� � 
 δA %
� δB 
'�$
�
�
� �
"



 |βi

σ
| > 2& 
'��� �� �'
�������� ���"
�
�
��

9
�
������� �	���� �
 ����- ��

 � 	�
��
��%� ���� � 
 βi

σ
(i = r +1, ..., k) ��

� ���

�� ;& ���� �
 δA %
� δB ��

� %
� 
'�$ ��
 �� ;& $�
 � �%������� ŷ ��

� 
������	��� %
�
���� ��� 	���	�"����� 3	����& 

 λ = 0& ���
�� 

 
	����	��'�� 	$
�
 ��
 H0 %
� $�

�������	������ ���� ��� ���
!�����& �
 δA %
� δB ��

� �

$ ��
 �� ;� <
 λ → ∞& ���
��


 �����
��� 	$
�
 ��
 H0 %
� $�
 ��
� �� 	�"��� r ���
!����� �'�	����
�!$
�
�
�
��� ��
����& ���� �
 δA %
� δB ���
�'
 ��� $������
 −

∑k
i=r+1(βi/σ)xi� <
 �'�%��
�'��

��� ��� ��
��%
����  � 	��� �� bias/σ& !���%�'�� ��� ��
�%$ � ��
��%
��
 < ��

� %
������

	� �� H�

<
 �
 γ2
A %
� γ2

B �'�!���)�'
 �� MSE(ŷ) ��
 ��� ��
��%
���� < %
� H 

�������
&
	
�
������� �
 ����- <
 λ = 0& �
 γ2

A %
� γ2
B ����
�
� %
� �
 ��� �� ( 1

n
+

∑k
i=1 x2

i )� <


λ → ∞& �
 ��

� ��
 �� ( 1
n
+

∑k
i=1 x2

i )+[
∑k

i=r+1(βi/σ)xi]
2� .��
 
	� %$	��
 	
�
�����
*

�
& (
�
��
� ��� �� γ2
A ��

� ��
(�"� ���
������ ��' γ2

B& 
��$ ��
�%"� � ��
(��$ ���
��

'�"
 � 
 ���& �	���� 

 �� ����� 
������
 ��

 ��

∑r
i=1 x2

i ��

� 
�%��$ ���$���

&515 �#��!'( ��)�4� #�(�!%� ��� #���!�����+!% �!+)��!% ��� %#!�!'��
���� ���!��:$�� ��� ���!% )�)��'-+��!� �2/���)!� '�� )�+ �+���+���+�

�;



)��( )�� y

+�H.J.Larson %
� T.A.Bancroft /���=0 
������
�
� %
� 
'�� �� (��$ �� �
 ����	"�
%
�������

 ��
���
 %
� ��
 �	����� � 
 ���
!���"
 	�' �
 �'�	�����(���
 ���

����%� ���� ��& 
��$ �� ��
(�����%� ���	�� 4� �'�%�%����
� $���� 
(��$ ��� �'
�	����
��� ��$�	
��� � 
 �	������
��%"
 ���
!���"
 
	� ��
 	���
�
�����& �� ��� %
��������-

'�� �� ��� ���
!����� /m �� 	�����0 ��
 ��� �	���� ��

� ����'��� ��� ��

� 
	
�
������
��
 �� ��
���� 	��!��,�� %
� 
'�� �� ��� 
�(��!������
�� ���
!����� /k−m �� 	�����0
��� �	���� �
 �'�	����$!�� ��� ����%� ��
���� 

 
	����,�� ��
 %��
� '	����� ��� ����
�� 
�(��!������
�� �'
�������� ��

� ;�

9�� 


�'��%$& '	�����'�� ��� �� 	�
��
��%� ��
���� ��

� �� ����-

y = β0 + β1x1 + β2x2 + . . . + βkxk + e /����0

�	�' �� �'
���"��� ��' �($��
��� e ��

� 

��$������ %
� %

�
�%$ %
�

�����
�� ��
���� ���� ; %
� $�
 ��� ��
�	��$ σ2� +� 	
�
�������� ��

� n �� 	����� %
� �
 xi

��

� ���
����
�����

 ���� "��� 

 ��

� �����"
�
 ���
�� ��'� �� ���� ���� ; %
�

������
 ����
�"
 
 ��� �� ��

%&.&(& /������ 	������� 
�������

+ %

�

� ��� ��
��%
��
� 	�' �������	�����
� ��

� � ����- 9
��
�'�� �

 �����

n 	
�
������ 
 	$
 ���� x1, x2, ..., xk %
� y %
� �������	������ ��
 %�
���%� ������
� 
 ��
���� 
 ����
�"
 
 ��
 

 '	�������'�� �
 b0, b1, ..., bk& ���
�� ��'� �%����*
��� � 
 β0, β1, ..., βk 

�������
� 4� $������
 ����
�"
 
 ��� ��� 	
��
��������
���� x1, x2, ..., xk � ��)��
� �� ��� ����- �� 	�"�� ��

� ��� ��� 	
��
�������� ��

x1, x2, ..., xm /
	
�
������0 %
� �� ������� ��� ��� 	
��
�������� ���� xm+1, xm+2, ..., xk

/
�(��!������
��0� 7�� � 
 '	����� 
 ��
 �
 xi& �
 
������
�
 ����
�"
 
 ��

� ��

�� b2

1 + b2
2 + ... + b2

m %
� b2
m+1 + b2

m+2 + ... + b2
k 

�������
� 23�� ��� �� υ �'�!���)�� ��

�����
��%� ���� ����
� 
�%� �($��
& ���
�� �� $������
 ����
�"
 
 � 
 �(
��$� 

RSS ��
������
� �� ��'� 

��������'� !��� 	�' ��

� ���� �� k − m�

3�����'�� �"�
 ��
 '	����� H0 : βm+1 = βm+2 = ... = βk = 0& �������	��"
�
�  �
%������� ������' ��-

F0 =
b2
m+1 + b2

m+2 + . . . + b2
k

(k − m)υ
/����0

�� �	��� 
	������ ��
 ���
!���� 	�' 
%���'��� %
�

��� F �� k−m %
� n−k−1 !��� <

F0 ≥ λ /�	�' λ = Fk−m,n−k−1,α0& 
	����	��'�� ��
 H0 %
� �������	������ ��� ��
����
���� ��� ���
!������ <
 F0 < λ& �����
��� ��
 H0 %
� �������	������ ��
� ��� 	�"���
m ���
!����� ��� ��
����� 2<�
& � �%���"��
� ���� ��� y& � ŷ& �
 �'�!���)��
� ���� ��
yk /� ���%��� ���"
�� �� 	����� � 
 �	������
��%"
 ���
!���"
 ��� ��
����0 ���� ��
ym& 

$���
 �� �� 
	�������
 ��' ������' ��� H0� 4� 	��!���
 	�' 	��	�� 

 �'���
��

� 

 %
�������� � 


��
���
� ���� %
� � ������,�
 ��' ŷ %
� �� ���� ����
� 
�%�
�($��
 ��� ŷ�

��



%&.&%& 0�������
�� 
	���� ���

C	�����)�'�� 
���%$ �� E(ŷ)� 23�� ��� �� ����
�� A0 ���"
�� 
	����� ��� H0&
�
" �� A1 ���"
�� 
	����,� ��� H0� 4���& ������-

E(ŷ) = E(ym|A0)P (A0) + E(yk|A1)P (A1) = β0 +
m∑

i=1

βixi +
k∑

i=m+1

xiE(bi|A1)P (A1)

/���;0
+	���& 
�%�� 

 '	�������'�� �
 E(bi|A1)P (A1)& ��
 i = m + 1, ..., k.

4
 bi& ��
 i = m+1, ..., k& 
%���'���
 %

�
�%� %
�

��� �� ���� ���� βi %
� ��
�	�*
�$ σ2& �
" �� υ& 	�' ��

� � �%������� ��' σ2& 
%���'��� ��
 %
�

��� ��� σ2χ2/(n−k−1)
�� n − k − 1 !��� 3	�	���
& �
 bm+1, ..., bk, υ ��

� ��� � 
 '	����� 
 

��$����
 %
*
�

�����

 �� %��
� �'
$����� 	'%
����
� 	��

����
� ��� ��-

f(bm+1, ..., bk) = K exp{−
k∑

i=m+1

(bi − βi)
2

2σ2
− (n − k − 1)υ

2σ2
}υ n−k−3

2 /����0

�	�' K = 1
Γ(n−k−1

2
)
(n−k−1

2σ2 )
n−k−1

2 ( 1
2πσ2 )

k−m
2 � � 	������ A1 ���)��
� 
	� �� ����� F0 ≥ λ&

� 
���"� 
	� �� �����-

υ ≤ b2
m+1 + b2

m+2 + . . . + b2
k

(k − m)λ

4���& �-

P (A1) =

∫ ∫
. . .

∫
A1

f(bm+1, ..., bk, υ)
k∏

i=m+1

dbidυ = g(θ) /����0

��

� � 	��

����
 �� (k−m)λ/(n−k−1) 

 ��

� ��%������ 
	� (k−m)F ∗/(n−k−1)
�	�' F ∗ ��

� ��
 �'�
�
 ���
!���� 	�' 
%���'��� ��*%�
���%� %
�

��� F �� k − m
%
� n − k − 1 !��� %
� 	
�$����� %�
���%����
�

θ =
1

2

k∑
i=m+1

β2
i /σ

2 /���=0

<	� /����0 %
� /����0 	��%�	��� ���-

∂P (A1)

∂βi

=

∫ ∫
. . .

∫
A1

bi − βi

σ2
f(bm+1, ..., bk, υ)

k∏
i=m+1

dbidυ

=
E(bi − βi|Ai)P (A1)

σ2
/����0

��



�� i = m + 1, ..., k�
<	� /����0 %
� /���=0& ���'�� ���-

∂P (A1)

∂βi

= g′(θ)
∂θ

∂βi

= g′(θ)
βi

σ2
/���B0

�� i = m + 1, ..., k�
3���"
�
�
� ��� /����0 %
� /���B0 ���'��-

E(bi|Ai)P (Ai) = βi[g(θ) + g′(θ)] /����0

�� �F�Q�&���&%�
+	��� 
	� /���;0 %
� /����0& �� ���-

E(ŷ) = β0 +
m∑

i=1

βixi + [g(θ) + g′(θ)]
k∑

i=m+1

βixi /���>0

<
 �"�
 	$��'�� �� ����%� 	
�$� �� ��� P (A1)  � 	��� �� θ 
'�� �� (��$& ���'��
���-

g′(θ) = −g(θ) + P [
k − m + 2

n − k − 1
F ∗

k−m+2,n−k−1(θ) >
k − m

n − k − 1
λ]

<
 ����'�� ��� ��
 ����'�
�
 	��

����
 �� h(θ)& ���'�� ��� h(θ) = g′(θ) + g(θ)�
2<�
& � /���>0 ��
��
�-

E(ŷ) = β0 +
m∑

i=1

βixi + h(θ)
k∑

i=m+1

βixi /����0

+	���& �� bias ��' ŷ ��

�-

bias = β0 +
k∑

i=1

βixi − E(ŷ) = [1 − h(θ)]
k∑

i=m+1

βixi

%
�

δ =
bias

σ
= [1 − h(θ)]

k∑
i=m+1

βi

σ
xi /����0

9
�
������� ��� 

 λ = 0& ���
�� 

 �������	������ 	$
�
 �� 	����� ��
����&
���� δ = 0� <
 �"�
 λ → ∞& ���
�� 

 �������	������ �� 	���������
� ��
����&
���� δ →

∑k
i=m+1 βixi/σ� 3	����& 

 %$	��
 
	� �
 βm+1, ..., βk ��
�
�
� 	��� ���$�
&

���
�
�� ��� 
	����	��'�� 	$
�
 ��
 '	����� ��� ��

� ��
 �� ; $�
 %
� �������	������
�� 	����� ��
����& �	��� ������ ��� δ → 0�

�=



%&.&'& 0�������
�� 
���� �	���������� ����
����

6�
 

 '	�������'�� �� MSE(ŷ) ����
)��
��� �� E(ŷ)2� R����� ����-

E(ŷ)2 = E(y2
m|A0)P (A0) + E(y2

k|A1)P (A1)

= σ2(
1

n
+

m∑
i=1

x2
i ) + (β0 +

m∑
i=1

βixi)
2 + 2(β0 +

m∑
i=1

βixi)
k∑

i=m+1

xiE(bi|A1)P (A1)

+ 2
k∑

i=m+2

k−1∑
j=m+1,i>j

xixjE(βiβj|A1)P (A1) +
k∑

i=m+1

x2
i E(b2

i |A1)P (A1) /��=;0

9
�
� ��)�
�
� ��
 P (A1) ��� (����  � 	��� βi ���'��-

∂2P (A1)

∂β2
i

=

∫ ∫
. . .

∫
A1

[− 1

σ2
+

(bi − βi)
2

σ4
]f(bm+1, ..., bk, υ)

k∏
i=m+1

dbidυ

= [− 1

σ2
+

E[b2
i − 2βibi + β2

i |A1]

σ4
]P (A1) /��=�0

<
 	
�
� ����'�� �"�
 �� g(θ) ��� (����  � 	��� βi ���'��-

∂2g(θ)

∂β2
i

= g′′(θ)
β2

i

σ4
+

g′(θ)

σ2
/��=�0

3���"
�
�
� ��� /��=�0 %
� /��=�0 ���'��-

E(b2
i |A1)P (A1) = σ2h(θ) + β2

i [g
′′(θ) + 2h(θ) − g(θ)] /��==0

�� i = m + 1, ..., k�
3	���� ������ ���-

∂2P (A1)

∂βi∂βj

=

∫ ∫
. . .

∫
A1

[
(bi − βi)(bj − βj)

σ4
]f(bm+1, ..., bk, υ)

k∏
i=m+1

dbidυ

=
1

σ4
E[bibj − biβj − bjβi + βiβj|A1]P (A1)

%
�

∂2g(θ)

∂βi∂βj

= g′′(θ)
βiβj

σ4
, i �= j

+� ��� ����'�
��� �������& ���	�
& �
� ��
�'
-

E(bibj|A1)P (A1) = βiβj[g
′′(θ) + 2h(θ) − g(θ)] /��=�0

��



i, j = m + 1, ..., k, i �= j�
1'
�'$)�
�
� ��� /����0& /��=;0& /��==0 %
� /��=�0 ���	�
 ���'��-

E(ŷ)2 = σ2(
1

n
+

m∑
i=1

x2
i + h(θ)

k∑
i=m+1

x2
i ) + (β0 +

m∑
i=1

βixi)
2

+ 2(β0 +
m∑

i=1

βixi)
k∑

i=m+1

βixih(θ) + [g′′(θ) + 2h(θ) − g(θ)](
k∑

i=m+1

βixi)
2

9
��
�
�
� �� ������� 	
�$� �� ��' g(θ)  � 	��� θ& ������ ���-

g′′(θ) = g(θ) − 2h(θ) + P [
k − m + 4

n − k − 1
F ∗

k−m+4,n−k−1(θ) >
k − m

n − k − 1
λ]

E���
�
� �� r(θ) ��
 ����'�
�
 	��

����
& 	��%�	��� ����%$ ���-

γ2 =
MSE(ŷ)

σ2
=

1

n
+

m∑
i=1

x2
i + h(θ)

k∑
i=m+1

x2
i + [r(θ) − 2h(θ) + 1](

k∑
i=m+1

βi

σ
xi)

2 /��=B0

.	������ 

 %$
�'�� 	
������� 	
�
�������� %
� ��
 �� γ2� 3	����& 	
�
�������
��� �
 δ %
� γ2 ��

� �����%$ 
	��� �'

������� � 
 βi/σ %
� λ� C	$���'
 %
� ��
 
'�$
����%�� 	�

%�� ��
 ��
 '	�������� ��'��

&5=5 �#��!'( ��)/����!% �!+)��!% ���- )�� 0�(��� #�!��)��)��*+ ��
��'0-+ ����+)���)�)�� )-+ �%+)����)*+ #���+"�������

1� �(
������ ��
�����%�� �� ��
�& '	$���� �'�
$ 
!�!
�����
 �����%$ �� �� 


	���������
�� %
�$����
 %$	���'� 	
�$��
���& �	 � ��
 %
�

��� 	�' 
%���'���
 �

������

& �� ��
�	��$ ��' ��
����' 	
��
��������& ��'� �'
�������� � 
 ���
!���"

%�	� 1� ������� 	���	�"����& ��

� 
	
�
����� � ����� 	��%
�
���%"
 ����� 
 ���

��*
%����
� ��
 

 ����$��'�� ��
 �������
 � 
 �%������"
 �
��

+ T.A.Bancroft /����0 ����$)�� ��
 ��	��� 	��� ����	�	��� 
��� �����
��
�����
.��$ 
	� ��
 	
��
������� �	���� 

 ���
��� 
!�!
��� ��
 �� 

 ��

� %
�$����� 

 ��
*
������'�� ��� ��
���� ��
 �'�%�%����
� �	������
��%� ���
!����� 23�� ��� ���'��
	���
������ �
 ������

 �
� ��� ��
���� y = b1x1 + b2x2 %
� ����'�� 

 �	�����'��


$���
 �� 
'�� %
� ��� 	���������
� ��
���� y = b′1x1� 23�� ��� �� 	�
��
��%� ��*

���� �%(�$)��
� 
	� �� ����� y = β1x1 + β2x2� 1� 
'�� ��
 	���	� �� �

� %

�

�
��
 

 
	�(
����'�� 

 %�
����'�� � ��� �� ���
!���� x2 ��� ��
���� ��

� 

 ����*
��'�� �� ���� F = θ2/γ2& �	�' θ2 ��

� � ��� �� ��' 
������
��� ����
�"
 
 ��� 
��� 
	
���(�� ��� ���
!����� x2 
	� �� ��
���� y = b1x1 + b2x2 %
� γ2 ��

� �� ����
����$� 
� � 
 �(
��$� 
� <
 �� F ��

� ��%������ 
	� ��
 	��%
�������
� ����& ����

	
���(�'�� �� x2 %
� �������	������ �� b′1  � �%������ ��' β1� <
 �� F ��

� ���
��*
���� 
	� 
'�� ��
 ����& ���� ��
������� ���
 ���� �� �� x2 %
� �������	������ �� b1

 � �%������ ��' β1�

�B



<

�'��%����
& ���'�� �� ��
����-

y = β1x1 + β2x2 + e /��=�0

C	�����'�� ��� �� ���
!����� x1 %
� x2 ���'
 ��
�	���� ���� �� � %
� �'
�������
�'�������� ρ& �	��� �����'
-

S(x2
1) = n − 1, S(x2

2) = n − 1, S(x1x2) = ρ(n − 1)

�	�' n ��

� �� 	����� � 
 	
�
������ 
 %
� S(x2
1) ��

� �� $������
 � 
 	
�
�����*

��
 
 ���"
 x2
1 ��� �����
& �� 	
������� �

���� ��
 �
 S(x2

2) %
� S(x1x2)�
1�� �'
����
& �%������� ��
 ���� �����"
�� ���
����
�����-

⎧⎨
⎩

ξ1 = x1

ξ2 = x2 − ρx1

4���& � /��=�0 ��
��
�-

y = β1ξ1 + β2(ξ2 + ρξ1) + e

9��%�	���& ���	�
& ���-

S(ξ2
1) = n − 1, S(ξ2

2) = (n − 1)(1 − ρ2), S(ξ1ξ2) = 0

3	���
 �&

S(yξ1) = β1(n − 1) + β2ρ(n − 1) + S(x1e)

%
�

S(yξ2) = β2(n − 1)(1 − ρ2) + S[(x2 − ρx1)e]

<
 �'�!�����'�� �� B1 ��
 �%������ ��' �'
������� ��' ξ1 %
� �� B2 ��
 �%������
��' �'
������� ��' ξ2& ���'�� ���-

B1S(ξ2
1) = S(ξ1y), B2S(ξ2

2) = S(ξ2y)

� ��� �� ���� ��� �'
���%� $������
 ����
�"
 
 ��� ��� 	
��
�������� ��� x1

��

 
�
����'�� �� x2 ��

�-

B1S(yξ1) =
[S(ξ1y)]2

S(ξ2
1)

=
[(β1 + β2ρ)(n − 1) + S(x1e)]

2

n − 1

�
" � ��� �� ��� �'
���%� $������
 ����
�"
 
 ��� ��� 	
��
�������� ��� x2 ��


��� ��
���� ��

� ��� � x1 ��

�-

B2S(yξ2) =
[S(ξ2y)]2

S(ξ2
2)

=
[β2(n − 1)(1 − ρ2) + S(x2 − ρx1)e]

2

(n − 1)(1 − ρ2)

��



3	���
 �& � ��� �� ��� �'
���%� $������
 ����
�"
 
 ��� ��� 	
��
�������� ����
x1 %
� x2 ��

� �� $������
 � 
 ��� 	
�
	$
 	������ 
& �� �	���� ��

� 

��$����

%
�

�����
���

23�� ��� b′1 ��

� � �%���"��
�� �'
�������� ��� x1 ��� ��
���� 	
��
�������� �	�'
� x2 ���� 
	
���(���� +	���& ������-

b′1 = B1 =
S(ξ1y)

S(ξ2
1)

=
(β1 + β2ρ)(n − 1) + S(x1e)

n − 1
/��=>0

3	���
 �-

E(b′1) = β1 + β2ρ /��=�0


(�� E[S(x1e)] = 0�
23�� ��� b2 ��

� � �%���"��
�� �'
�������� ��' x2 ��

 ��� ��
���� 	
��
��������

�'�	����
�!$
�
�
� �� ���
!����� x1 %
� x2� 4���-

b2 = B2 =
S(ξ2y)

S(ξ2
2)

=
(n − 1)β2(1 − ρ2) + S[(x2 − ρx1)e]

(n − 1)(1 − ρ2)

� ��
�	��$ ��' b2 ��

�-

V ar(b2) =
S(ξ2

2)

[S(ξ2
2)]

2
=

1

S(ξ2
2)

=
1

(n − 1)(1 − ρ2)

+� %

�
�%�� ����"���� ��
 �� ��
���� y = b1x1 + b2x2 ��$(�
�
�  � ����-

⎧⎨
⎩

b1S(x2
1) + b2S(x1x2) = S(x1y)

b1S(x1x2) + b2S(x2
2) = S(x2y)

3	����& ��
 ��
 b′1 ������ ���-

b′1 =
S(x1y)

S(x2
1)

= b1 + b2
S(x1x2)

S(x2
1)

3	���
 �&

b′1 = b1 + b2ρ

�

b1 = b′1 − b2ρ /��=�0

3	���
 �& 
	� ��� /��=�0 %
� /��=�0 	��%�	��� ���-

E(b1) = β1 + β2ρ − ρE(b2)

�	�' 

 ρ = 0& 	
�
������� ��� �� b1 ��

� 
������	��� �%������� ��' β1�

�>



6�
 

 �	�����'�� �"�
 

$���
 ��
 ��
���
 y = b1x1+b2x2 %
� y′ = b′1x1& 
�%�� 

 '*

	�������'�� ��
 ���� ��' ����' F = θ2/γ2& �	�' θ2 = B2S(yξ2) = [β2(n−1)(1−ρ2)+S(x2−ρx1)e]2

(n−1)(1−ρ2)

%
� γ2 = S(y−Y )2 = B1S(yξ1)+B2S(yξ2) = [(β1+β2ρ)(n−1)+S(x1e)]2

n−1
+ [β2(n−1)(1−ρ2)+S(x2−ρx1)e]2

(n−1)(1−ρ2)
�

23	���
& �'�%��
�'�� �� F �� ��
 	��%
�������
� ����& ��� �� λ = F1,n−3� <
 �� F < λ&
���� 	
�
���	�'�� �� x2 %
� �������	������ �� b′1  � �%������ ��' β1� <
 �� F > λ&
���� ��
������� �� x2 ���
 ���� �� %
� �������	������ �� b1  � �%������ ��' β1� +
�%������� ��' β1 	�' 	��%�	��� ����%$ %
����
� b∗�

E
 '	�������'�� �"�
 �� ������,�
 ��' b∗� 1��
 	���	� �� �	�' F < λ& ���
��
��� ��
���� '	$���� ��
� � x1& �
 ������ � ����� /��=�0� <
 F ≥ λ& ���
�� ���
��
���� 	������
�
� %
� �� ��� ���
!�����& �%������� ��'� 
	
�
�����'� '	����������
%
� %
�
����'�� ���
 ��	�-

E(b2) =
β2

P (u ≤ 1
λc

)

∞∑
i=0

αie−α

i!
Ix0(

n − 3

2
,
3

2
+ i),

�	�' u = γ2

b22
& c = 1

(n−1)(1−ρ2)
& α =

β2
2

2c
%
� x0 = 1

λ
n−3

+1
�

<	�����
�� ��� ������-

E(b1) = β1 + β2ρ − ρE(b2)

3	���
 �& !���%�'�� �� ������,�
 ��' b∗ 	�' ��

�-

bias = ρβ2[1 −
∞∑
i=0

αie−α

i!
Ix0(

n − 3

2
,
3

2
+ i)]

9
�
������� ��� 

 λ = 0& ���� E(b2) = β2 %
� bias = 0& �
" ��

 λ → ∞& ����
bias → ρβ2� 3	����& %$
�'�� ��� ���� 	
�
��������-

• 5�
 '	$���� ������,�
 ���
 �%������ ��' β1 

 ρ = 0 � β2 = 0

• + �'
�������� ��' β2 ���
 ��	� ��

� 
	���� � ��%������� � ���� ��' �

• 4� 	������ ��' bias ��
��$�
� 
	� �
 	�����
 � 
 ρ %
� β2� 3�

� ����%� 


ρβ2 > 0& �
" ��

� 
�
���%� ��

 ρβ2 < 0

• � ������,�
 ���
 �%������ ��' β1 ��

� 

��$����� ��' β1�

4� 	��!���
 	�' 


	�����%� 
	������ ��
 ����%� 	���	� �� ��' ��
�%�����' 	��*
!���
��� ��� ������ ��' ������' ���

��%����
�  � %������� �	������ ��' 	����'� � 

�	������
��%"
 ���
!���"
 	�' �
 �������	������
 ��� ��
����-

y = b1x1 + b2x2 + . . . + bkxk.

��



�������� �

�������
�� �	����������� �	� �

������� LASSO

1�� %�($�
�� 
'�� 	
��'��$)��
� � ������� Lasso& � �	��
 �������	�����
� ��

��
 �%������ � 
 �'
������"
 � 
 �	������
��%"
 ���
!���"
 �� ��
���%$ ��
���
&
���( 

 �� �� �����%� $���� ��' R.T ibshirani /����0� 9��%���
� ��
 �� 	��!���
 ���
��
�����	������ � 
 ����
�"
 
 � 
 �(
��$� 
 
��$ '	� ��
 	��������� �� $������

� 
 
	���� 
 ���"
 � 
 �%���"��
 
 �'
������"
 � 
 �	������
��%"
 ���
!���"
 


��
 ��	��
$�� ��
 ���� ��
� �'���)���
�� 	
�
�����'� <'�� %
����$ %$	���'� 
	� ��'�
�'
�������� ���'� �� �� ;& �	���
 � �� ��
���� ��
��
� �'%������
 ����
������ %
� �
��
�	��$ ��' ���"
��
�� 1�� �'
����
& 	�����$(��
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∑

j βjxij)
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/=��0
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 	��%����� �'���%
 �� � 
 ���� 
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�	�' �� γ %
����)��
� 
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�
�%�� 	�

%
 �����
����& � �	����� ��' !�������' '*
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 %$	��� λ& 
'�� ��

� �����*



�� �� �� 
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∑
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������� PR.T ibshirani (1996)& Regression
Shrinkage and Selection via the Lasso& J.R.Statist.Soc.B& 58, No.1, pp.267 − 288K
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 �� (a)Lasso %
� ��
 �� (b)Ridge Regression
PR.T ibshirani (1996)& Regression Shrinkage and Selection via the Lasso&
J.R.Statist.Soc.B& 58, No.1, pp.267 − 288K
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� 	���
%�
�$ ���
 	�
��
��%� 


����
& ���
�� ;&B�

,515 �%�#��/���)� #/+- �)� �� !"! Lasso

1��� 	�"��� � 	
�
��$(�'�& 	���$��%� ��
 	���(
�� ������� ��
 �'���%
 �� %
�
�	����� ���
!���"
 ��
 	��!���
�
 	
��
��������� � Lasso ��
 ����$)�� �� '	���
��


��$ ���)�� ��
 �'
��� ��
��%
��
 �'���%
 ��� 	�' �	���� 

 �"��� �'
�������� 	�' ��

�

%��!"� ���� �� ;� .��
 
	� 	
�
�����
�
& ��
	���"�
�� ��� � Lasso 
	����%
���
�
����%�� (���� %
������ 
%��
 %
� 
	� ��
 subset selection � ��
 ridge regression�
.�������%� �� %����� ��� %$�� ������' �� ����� ��
(�����%�� 	���	�"����-

�� "���� ������ ��
������� 
	��!�����- 3�" � subset selection ��

� � %
������&
� Lasso ��� ���� %
��& �
" � ridge regression ��
 �
���%
'�
��

�� "����� ������ 
����� ��
������� 
	��!�����- 3�" � Lasso �'�	���(����
� %
*
�����
& �� �� ridge regression 

 
%���'���& �
" ����'�
�
 �����
� � subset
selection�

=� "	���� ������ ���
����� 
	��!�����- � ridge regression %��
��
� � %
������&

%���'��� � Lasso& �
" ����'�
�
 �����
� �

$ � subset selection�

�;



� ������� garotte ��' Breiman /���=0 �'�	���(����
� ���� %
�����
 
	� �� Lasso
���
 	�"�� 	���	� �� %
� ���� ��������
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%��!��
 ��� 	��!��,��� +� subset selection& Lasso %
� garotte
'	�������
 ��� ridge regression ���
 %
�
�%�'� ��
��� 
 	�' ����'�� 

 ����
���
�
�
��%��
�

C	$���'
 ��� !�!�����
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 	����� 	
�
��
��� 
'�"
 � 
 ����� 
 	�' 	���	
���



 ��� !����"��'
� +� Frank %
� Friedman /���=0 	�����
�'
 ��
 ��
�%�'�� ��� ridge
regression %
� ��� subset selection %
�$ ��
 �	��
 	�������'�� �


 �	�	���
 ��� ���
���(�� λ

∑
j |βj|q ��� $������
 ����
�"
 
 � 
 �(
��$� 
� <'�� ��

� �����

�� ��

��
 	��������� ��� ���(��
∑

j |βj|q ≤ t %
� �
��$)��
� ??��('�
@@� � Lasso 

��������� ��
q = 1� 9�����
�'
 ��� � %��
� �%������ � 
 βj %
� q �
�����
� 

 ��

� ��
 
	�������
��%�
���
����%� 
��$ ��
 ���'
 


�'��� �����
 �'�	��$��
�
�

4� 1���
 =�= ����
�� ��
 %
�$��
�� ���� ��� ��
��$����� � subset selection 

��*
������� ��� q → 0� � ���� q = 1 ���� �� 	���
�%���
 

 ��

� 	�� %�
�$ ���
 subset
selection 	
�$ ��� ridge regression& �	�' q = 2& %
� �	���� ��

� � ��%������ ���� ��'
q 	�' ��
�� ��
 %'��� 	�������

1���
 =�=- 4������ ��� ��
����� ����� ��'
∑

j |βj|q
(a)q = 4& (b)q = 2& (c)q = 1& (d)q = 0.5& (e)q = 0.1 PR.T ibshirani (1996)& Regression
Shrinkage and Selection via the Lasso& J.R.Statist.Soc.B& 58, No.1, pp.267 − 288K
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��
�
� �������� ��
 ��
 ���$�� 	��%���
 
	� ��
�����%$ 	��!��*
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�
 �%�������� 9��
���� ���'

 ����$)��
� ��
 

 ����$��'�� 
'�$ �
 �
������

�

,5=5 6! "%@�� #������� )�� �� �"!% Lasso

+ �%������� ��� ������' Lasso '	�����)��
�& �	 � ���
��& 
	� �� 	��!���
 /=��0�
<
 �� ����'�� ��� ȳ = 0 %
� 	
�
���,�'�� �� α /
(�� α̂ = ȳ0& ���� �� 	��!���

!�������	������ ��
 ��
 ������ ��' �%������ ��� Lasso �	���� 

 ��
(���  � ����-

⎧⎨
⎩

minimizeβ1,...,βp

1
2

∑N
i=1(yi −

∑p
j=1 xijβj)

2

τ.ω.
∑p

j=1 |βj| ≤ t
/=��;0

4� 	��!���
 
'�� ��

� ���%��� 

 �'��� %
� � 
��������� ��' Tibshirani /����0
	�' 	�����$(�%� ���
 	
�$��
(� =�= ��
 ��

� 
	�������
��%�� ��

 �� p ��

� ���$��&

��



�
" ��
 �	���� %
����' 

 �������	������ ��

 p > N � +� M.R.Osborne,B.Presnell,
%
� B.A.Turlach /�;;;0 ����$)�'
 �� �'A%� 	��!���
 !�������	������ %
� 	
����'

�


 
�������� ��
 ��
 '	�������� ��' �%������ ��� ������' Lasso& � �	���� �	����


 �(
������� %
� ���
 	���	� �� �	�' p > N �

23

 �����

�� 	��!���
 �� �� /=��;0 �	���� 

 � ���  � ����-

minimizeβ1,...,βp{
1

2

N∑
i=1

(yi −
p∑

j=1

xijβj)
2 + λ

p∑
j=1

|βj|} /=���0

�	�' � Lagrangian 	���
	�
��
���� λ ��

� �

� �� 
�
���%�� 
�������
23�� y = (y1, ..., yN )′ �� ��$
'��
 � 
 	
�
������ 
 ��
 ��
 ��
�����
� ���
!����&

X = (x1, ..., xp)
′ � N × p 	�

%
� � 
 	
�
������ 
 ��
 ��� �	������
��%�� ���
!�����&

�	�' xj = (x1j, ..., xNj)
′ ��

� � j−���� ��' ����� %
� ��� A = X ′X� C	�����'��

��� � X ���� ������� �$��� 23�� N(X) ⊂ �p � ����
��"��� ��' 	�

%
 X %
� β0 �
OLS �%�������� 9��(

"�& 

 p ≤ N & ���� N(X) = {0} %
� � ���� β0 = A−1X ′y ��

�
��

��%�� <
 �� � p > N & � N(X) ���� ��$��
�� p−N & � β0 ��
 ��

� ��

��%�� %
� �
����� X(β0 + η) = y ������ ��
 %$�� η ∈ N(X)� 1� %$�� 	���	� ��& 	$
� �& ���)�'��-

t0 = min
η∈N(X)

||β0 + η||1

�	�' ||β||1 =
∑p

i=1 |βi| ��

� � L1−
���
 ���
 �p� C	�����'�� ��� t < t0& 
(�� 

 t ≥ t0
� �%������� Lasso ��

� �����

��� �� ��
 OLS �%�������

4� 	��!���
 /=��;0 �	���� 

 ��
(���  � ����-

⎧⎨
⎩

minimizeβf(β)

τ.ω. g(β) ≥ 0
/=���0

�	�'

f(β) =
1

2
(y − Xβ)′(y − Xβ) =

1

2
r′r

%
�

g(β) = t −
p∑

i=1

|βi|

<(�� � f ��

� �'
���� %
� � 	������ 	�' 	
��
�� ����� �� β ��

� �'�	
���& �� 	��*
!���
 /=���0 ���� ����'�
 ����� 3	�	���
& 
(�� t < t0& %$�� ���� β∗ ��� /=���0 �

!���%��
� ��� ��
���& ���
�� �
 ������- ||β∗||1 = t� 3(���
 � g ��

� %����& � 	������
	�' ���)��
� 
	� ��
 

������
 g(β) ≥ 0 ��

� %'��� %
� 
(�� %
� � f ��

� %'���& ��

�
(

��� ��� �� ��
��� � 
 ���� 
 ��� /=���0 �
 ��

� %'���� 3	����& 

 p ≤ N & ���� �
f ��

� 
'����$ %'���& �	���
 � � ���� ��

� ��

��%�� 4
 �'�	��$��
�
 
'�$ �'
�*
,�)�
�
� ��� 	
�
%$� ��"���
-

A�*���� � 340���#� ��� 
���
�������5
<
 t < t0& �����'
 �
 ����-

��




0<
 p ≤ N & ���� �� /=���0 ���� ��

��%� ���� β∗ %
� ||β∗|| = t�
!0<
 p > N & ���� �� /=���0 ���� ���� β∗ %
� � ������
 ||β∗||1 = t ������ ��
 %$��

����� <
 β∗
1 %
� β∗

2 ��

� ��� ������& ���� � %'���� �'
�'
���� ρβ∗
1 + (1 − ρ)β∗

2 ��

�
�	���� ���� ��

 0 ≤ ρ ≤ 1.�

<
 �� ����'�� �� /=���0  � �

 	��!���
 %'���� 	����
��
������& � Lagrangian
�
 ��

�-

L(β, λ) = f(β) − λg(β) /=��=0

<
 �����'��

L∗(β) = sup
λ≥0

L(β, λ) /=���0

���� �
 ������-

L∗(β) = { f(β), 

 g(β) ≥ 0
+∞, 

 g(β) < 0

3	���
 �& � ��
�����	����� ��' L∗(β) ��

� �����

�� �� ��
 �	��'�� ��' 	��!��*
�
��� /=���0� 4� 	��!���
-

minimizeβL∗(β) /=��B0

�����
� ������ ���!��
� %
� � f(β) ������ �����	�
	���� ����������
6�
 λ ≥ 0& � 
�6�� �����	�
	���� ��������� ���)��
�  � ����-

L∗(λ) = inf
β

L(β, λ) /=���0

%
� �� 
�6�� ���!��
� �
 ��

� ��-

maximizeλ≥0L∗(λ) /=��>0

<
 λ ≥ 0& � L(β, λ) ��

� ��
 %'��� �'
$�����  � 	��� β %
� �� L(β, λ) → +∞ %
�"�
�� ||β||1 → +∞� 2<�
& � L(β, λ) ���� ��'�$�����
 �

 ��$�����  � 	��� β %
� ������
��� �� β̄ ��
�����	���� ��
 L(β, λ) 

 %
� ��
� 

 �� p−��$��
�� ����
�%� ��$
'��
 B
��

� �������� ��� ����%�� 	
�
�"��' ∂βL(β, λ) (Osborne, 1985)� � ����%� 	
�$� ���
��
��
� 
	� �� �����-

∂βL(β, λ) = −X ′r + λv

�	�' �� �'
���"��� ��' ��

���
��� v = (v1, ..., vp) ��

� ��� ���(�� vi = 1 

 βi > 0&
vi = −1 

 βi < 0 %
� vi ∈ [−1, 1] 

 βi = 0� +	���& 

 �� β̄ ��
�����	���� �� L(β, λ)&
������ ���-

0 = −X ′r̄ + λv1 /=���0

��
 %$	��� v1 ��� 	
�
	$
 ���(��& �
" r̄ = y − Xβ̄�

�=



6�
 %$�� ��$
'��
 v& ������ ��� v′β̄ = ||β̄||1& �	��� � ����� /=���0 �
� ��
�� λ =
r̄′Xβ̄/||β̄||1� <
 β̄ �= 0& ���� ������ ��� ||v||∞ = 1& �	��� 	��%�	��� ��� λ = ||X ′r̄||∞�
J������	��"
�
� ��� ��� 
'��� �%(�$���� ��
 �� λ& ���'�� ���-

L∗(λ) = L(β̄, λ) =
1

2
r̄′r − r̄′Xβ̄

||β̄||1
(t − ||β̄||1)

=
1

2
r̄′r − r̄′Xβ̄

||β̄||1
t + r̄′Xβ̄

=
1

2
r̄′(r̄ + Xβ̄) +

1

2
r̄′(Xβ̄) − r̄′Xβ̄

||β̄||1
t

=
1

2
r̄′(y + Xβ̄) − r̄′Xβ̄

||β̄||1
t

=
1

2
(y − Xβ̄)′(y + Xβ̄) − r̄′Xβ̄

||β̄||1
t

=
1

2
y′y − 1

2
β̄′Aβ̄ − r̄′Xβ̄

||β̄||1
t

=
1

2
y′y − 1

2
β̄′Aβ̄ − ||X ′r̄||∞t

9����� (����& ��
 

 ����'�� 	��!���
�
 !�������	������& ����
)��
��� �� �����
���
�� 
���%�� %
� �'A%�� 	��!���
���� 4
 ��� 	
�
%$� �� ���
�
 
(����
 �� �����
���
�� ��' 
���%�� /=���0 %
� ��' �'A%�� /=��>0 	��!���
���� 4� 	�"�� 	��%�	��� 
	2
�'���
� 
	� ��'� �������� � 
 L∗ %
� L∗-

A�*���� & 3+��	��� 
�6������5
<
 β∗ ��

� ��
 ���� ��' /=��;0 %
� λ̄ ��

� ��
 ���� ��' �'A%�� 	��!���
��� /=��>0&

���� ������-

L∗(λ̄) ≤ L∗(β∗)�

.� �� !�����
 ��' Osborne /���B0 
	����%
���
� �� �	���
� ��"���
� +��)�'�� ��
�'
$����� v(z) = infβ∈{β:g(β)≥z} f(β) %
� �������	��"
�
� ��
 %'������$ ���& �� ����

����� %
� �� ��"���
 ����� ��' Osborne /���B0 %
�
����'�� ��� 	
�
%$� �'�	��
��
�

A�*���� , 37����� 
�6������5
<
 β∗ ��

� ��
 ���� ��' /=��;0 %
� λ∗ ��

� � Lagrangian 	���
	�
��
���� 	�'



��������� ��� β∗& ���� �� λ∗ ��

� ��
 ���� ��' �'A%�� 	��!���
��� /=��>0 %
� ������-

L∗(λ
∗) = L(β∗, λ∗)�

1�� �'
����
& �
 
���������� �� ��
 	���	� �� �	�' p > N � <
 β∗ ��

� ��

���� ��' /=��;0& ���)�'��  � V (β∗) �� ��
��� �� 
 � 
 ��

'��$� 
 � � 
 �	�� 
 ��
�'
���"��� ��

� ��� ���(��- ei = 1 

 β∗

i > 0& ei = −1 

 β∗
i < 0 %
� ei = 1 � ei = −1

��





 β∗
i = 0� <
 �� β∗ ���� l < p �'
���"��� ���� �� ;& ���� �� ��
��� V (β∗) = {�1, ..., �k}

	������� k = 2l ��

���
�
� 23�� 3 � k × p 	�

%
�& ��' �	���' � i−���� ��
��� ��

�
� e′i� 9
�
������� ��� ||�||1 = p %
� β∗′� = t < t0& ��
 %$�� � ∈ V (β∗)� 4���& ������ �
�����-

(β∗ − t

p
�)′e = 0,∀� ∈ V (β∗)

C	�����'�� �"�
 ��� p > N %
� ��� �� β† ��

� �	���� ��
 ���� ��' /=��;0� 23�� 
η � ��
(��$ ��'�& ���
�� η = β† − β∗� <	� �� ��"���
 �& ���'�� ��� %
� � %'����
�'
�'
���� ��'� ρβ† + (1 − ρ)β∗ = ρ(β† − β∗) + β∗ = β∗ + ρη ��

� �	���� ���� ��

0 ≤ ρ ≤ 1 %
� �$����
 ||β∗ + ρη||1 = t� 2+� �& �� ||y − Xβ||2 ��

� ��
���� ��
 %$��
����& �	��� �
 ������ ��� η ∈ N(X)� 3	����& 
	� �� �'
��%� ||β∗ + ρη||1 = t 	��%�	���
��� η′� ≤ 0 ��
 %$�� � ∈ V (β∗)� 6�
 

 �� 
	������'�� 
'��& 	
�
������� 
���%$ ���
||b||1 ≥ b′w ��
 %$�� b, w ∈ �p �� ||w||∞ ≤ 1� +	���& 

 η′� > 0 ��
 %$	��� � ∈ V (β∗)&
���� ||β∗ + ρη||1 ≥ (β∗ + ρη)′� = t + ρη′� > t& $��	��

<
 �"�
 �'�!�����'�� �� C(β∗) ��
 %'��� %"
� 	�' ���)��
�  � ����-

C(β∗) = {x ∈ �p : x′� ≤ 0,∀� ∈ V (β∗)}

���� �
 	
�
	$
 �'
�,�)�
�
� ��� 	
�
%$� ��"���
�

A�*���� .
4� β∗ ��

� � ��

��%� ���� ��' 	��!���
��� /=��;0 

 %
� ��
� 

 C(β∗)∩N(X) =

{B}& �	�' B �� p−��$��
�� ����
�%� ��$
'��
��

<	� �� ��"���
 
'�� 	��%�	��� ��� 

 p > N %
� �� β∗ ��
 ��

� ��

��%� ����& ����
�
 '	$���� �

 �� ����
�%� ��$
'��
 η ∈ C(β∗)∩N(X)& ���
�� ������ ��� η ∈ N(X) %
�
η′� ≤ 0 ��
 %$�� � ∈ V (β∗)� <
 %�
������ 	��� ��
 %
����'
�� �	�' η′� = 0 ��
 %$��
� ∈ V (β∗).& ���� �
 (�$��'�� �� ��
 ���� � �	��
 �
 ���� ��'�$�����
 ��
 �������� ��

�
���%� �'
���"�
 
	:��� �� β∗� <
 �� � �� η ��

� ������ "��� η ∈ N(X) %
� η′� > 0
��
 ��'�$�����
 �

 � ∈ V (β∗)& ���� �� 	����� � 
 �� 
�
���%"
 �'
��� �"
 ��� �����
β∗ 
'�$
��
��

6�
 

 
	������'�� �"�
 �� 	
�
%$� ��"���
 	�' 
(��$ �� ������� �'

�� 	�����
� 
 ��*����
�%"
 �'
��� �"
 ��
� �����& 	
�
����'�� �� 	
�
%$� ����
�


(��� �
� �$�� ��' 	�

%
 3 ��

� ��� �� l + 1& ���
�� �� V (β∗) 	������� l + 1 ��
���%"�



��$����
 ��

���
�
� 3	�	���
& %
��
 ��
��� ��' 3 ��
 ��

� ����%�� ��
���%�� �'
*
�'
���� � 
 '	����	 
 ��
��"
& ���� �� ����
�%� ��$
'��
 ��

� ����%�� ��
���%��
�'
�'
���� � 
 ��
��"
 ��' 3�

+��
	�#�$
23�� I = {i1, ..., il}& �	�' β∗

ij
= 0& ��
 j = 1, ..., l� 6�
 k = 1, ..., l& �� ���*

�� �
 ��

���
�
 �k ∈ V (β∗)& �
 �	��
 ���'
 �������
 eik,k = −1 %
� eij ,k = 1 ��


�B



j = 1, ..., k − 1, k + 1, ..., l %
� ��� ��� �� ēl+1 ∈ V (β∗) ���� �������
 eij ,k = 1 ��

j = 1, ..., l� 3�

� (

��� ��� 
'�$ �
 l + 1 ��

���
�
 ��

� ��
���%"� 

��$����
 %
�
��� %$�� $��� ��$
'��
 	�' 

�%�� ��� V (β∗) �	���� 

 ��
(���  � ��
���%�� �'
�'
*
���� 
'�"
 � 
 ��

'��$� 
� <'�� 
	����%
��� ��� � 3 ���� �$�� l + 1� C	�����'��
�"�
 ��� '	$���'
 ����%�� 
������ λj %
� ���%��� kj& �� j = 1, ..., q& ������� "��� ��∑q

j=1 λj�kj
��

� ��� ���� �� �� �k ��
 %$	��� k 	�' ��
 ��

� %$	��� 
	� �
 k1, ..., kq& ����

�� �� ����
�%� ��$
'��
� <(�� ||β∗||1 = t& �
 '	$���� �

 ��'�$�����
 i0 �� β∗
i0
�= 0 %
�

�� i0−����� �'
���"��� �� 
 � 
 � ∈ V (β∗) ��

� ���� ���� ���� �� � ���� ���� ���� ��
*�� 2<�
& ��

∑q
j=1 λj ��

� ��� �� � 



∑q
j=1 λj�kj

= �k � ; 


∑q

j=1 λj�kj
= 0� � �������

	���	� �� %
�
����� �� $��	�� 6�
 ��
 	�"�� 	���	� ��& 
(�� ���� �� �'
���"��� � 

�k %
� �kj

& j = 1, ..., q& ���'
 
	��'�� ���� ��� �� �& ��

� (

��� ��� 	��	�� 

 ������
ekj ,i = eki ��
 %$�� j = 1, ..., q %
� i = 1, ..., p� <'�� ��

� $��	�& 
(�� �
 � 	�' 

�%�'

��� V (β∗) 	��	�� 

 ��

� ��
 ��
(�����%$ ���
�� ��'�� �

A�*���� 1
<
 p > N %
� �� β∗ ��

� %

�
�%� ���� ��' /=��;0& ���
�� ������N(E)∩N(X) = {0}&

���� �� β∗ ���� �� 	��� N �� ����
�%�� �'
���"����

+��
	�#�$
23�� β∗ ��
 �����
 ���� �� l ����
�%�� %
� p − l �� ����
�%�� �'
���"���� 4�*

�� 
	� �� 7���
 �& � N(E) ��

� �

� (p − l − 1)−��$��
��� �"��� ���
 �p %
�
N(E) ∩ N(X) = {0} ��2 �������� <(�� �� � � X ���� ������� �$��& � N(X) �

���� ��$��
�� p − N � E� ����� �"�
 �� ��
���$��
�� �"�� S = {η : η = λ�̄, λ ∈ �}&
�	�' �� �̄ = 1

k

∑k
j=1 �j ���� �'
���"��� ēi = 1 

 β∗

i > 0& ēi = −1 

 β∗
i < 0 %
� ēi = 0 



β∗
i = 0� 3�

� (

��� ��� �̄′� = p− l > 0 ��
 %$�� � ∈ V (β∗)& ���� "��� S∩N(E) = {0}�
R�����& �� �& �	���� ��� S ∩N(X) = {0}& ��
�� ��
(�����%$& ��
 λ > 0 
�%��$ ��%��& ��
β∗ − λ�̄ �
 ��

 ���� ��' /=��;0 �� L1−
���
 ��%������ 
	� 
'��
 ��' β∗& $��	� ��� 
��' �� ���
��� �� <(�� �� �"��� S,N(E) %
� N(X) ���'
 �'
���%$ ��$��
�� �� 	���
p& �
 ������ ��� (p − l − 1) + (p − N) + 1 ≤ p& ���
�� p − l ≤ N � �

1�� �'
����
& �� Osborne, Presnell %
� Turlach /�;;;0 '	�����)�'
 ��
 	�

%
 �'
*
��
�	��$� ��
� ����� β∗ ��' /=��;0 %
� %
�
����'
 �� ��
(�����%� ��	� 
	� 
'��
 ��'
Tibshirani /����0� � ���� β∗ �
 �%

�	���� �� ����� /=���0� <(�� �� X ′r ��
 ��
�*
�$�
� 
	� �� �'�%�%����
� ���� β∗& �� ���� �
 ������ %
� ��
 �� v = X ′r/||X ′r||∞
���
 /=���0� 3	����& �
 ��)�'�� ��� λ = r′Xβ∗/||β∗||1� � /=���0 ���	�
 ��
��
�-
X ′(y − Xβ∗) = λv ⇔ X ′y = Aβ∗ + λv ⇔ X ′y = Aβ∗ + r′Xβ∗

||β∗||1
X′r

||X′r||∞β∗� +	���& ��*
��%$ 	��%�	��� � �����-

X ′y = (A + W )β∗ /=���0

�	�' � 	�

%
� W = 1
||β∗||1||X′r||∞ (X ′r)(X ′r)′ ���� �$�� l� 3	����& �	������ 

 ��$,�'��-

A + W = X ′(I +
1

||β∗||1||X ′r||∞
rr′)X

��



<'�� ����
�� ��� � �$�� ��' 	�

%
 A + W ��

� ��� �� ��
 �$�� ��' X %
� $�
 ���
�� ��
 �$�� ��' <� 2<�
& 

 p ≤ N & � 	�

%
� �'
��
�	��$� � 
 �%�����"
 ��
��
� 
	�
��
 ��	�-

V ar(β∗) = (A + W )−1A(A + W )−1σ̂2 /=��;0

�	�' σ̂2 ��

� �

� �%������� ��� ��
�	��$� � 
 �(
��$� 
� � ����� 
'�� �����
� ��


������ �� ��
 

�������� ����� /=��0 ��' Tibshirani /����0�

+� 	
�
	$
 �'���
(���& �
� ��
�'
 �


 ���	� ������� ��' γ ��� ����� /=�=0& �
�	��
 �
� ��
�� �� ���� /=��;0 ���
 	���	� �� 	�' � X ��

� ����%

�
�%��& ���
�� ��


������ ��� X ′X = A = I� 9
�
������� ���-

t0 − t =

p∑
j=1

|β̂0
j | −

p∑
j=1

|β̂j| =

p∑
j=1

{|β̂0
j | − (|β̂0

j | − γ)+}

=

p∑
j=1

|β̂0
j |I(|β̂0

j | ≤ γ) + γ

p∑
j=1

I(|β̂0
j | > γ)

=
K∑

j=1

bi + γ(p − K)

�	�' �
 b1 ≤ . . . ≤ bp ��

� �
 |β̂0
1 |, . . . , |β̂p

1 | �� 
���'�
 ����$ %
� K = max{i : bi ≤ γ}�
<(�� t < t0& �
 ������ ��� K < p %
� bK ≤ γ ≤ bK+1� 23�� c0 = 0 %
� cj =∑j

i=1 bi + bj(p− j)& ��
 j = 1, ..., p "��� 0 = c0 ≤ c1 ≤ . . . ≤ cp = t0� 4���& K = max{i :
ci ≤ t0 − t} %
�

γ =
(t0 − t) −

∑K
i=1 bi

p − K

�>



�������� �

�	���������� ��	������ �
��	�

1�� 	
��
 %�($�
��& 


����
� ��
 
�
 ������� %
�
�%�'�� ��
���%"
 ��
��� 
& �
9
��
������� 3�$������ 6 
�
� /LARS0& ���( 

 �� �� �����%� $���� � 
 B.Efron&
T.Hastie& I.Johnstone& R.T ibshirani (2004)� <���%$& 	�����$(��
� � 
��������� ���
������' %
� �	���
 
	����%
���
� ��� ��� ��
� ���	�	������& � ������� LARS �	����


 �
'������ �� �� ������ Stagewise � �� ������ Lasso �� ��
 �

��
 ��� ��
�'
 ���
����� ������ ��
 ��'� �%���"��
�'� �'
�������� � 
 �	������
��%"
 ���
!���"
 ��'
��
����'� 1�� �'
����
& 	�������)�
�
� %$� 
	� ������
�� 	��8	������� �� !
����
���'����
� ��' �%������ ��� ��
�����
�� ���
!����� %
� �����& '	�����)��
� �� %�����
'	��������� ��
 ��� ����� ������'��

+ ������ � 
 
������� 
 �	������ ��
����'& �	 � � All subsets& � Forward
selection %
� � Backward elimination& ��

� 

 �	�����'�� �

 ��
���%� ��
���� ��
�%�	� ��
 	��!��,� ��� ����� ��
� ��
�����
�� ���
!����� �� !$�� ��� ����� � 
 �*
	������
��%"
 ���
!���"
 x1, x2, ..., xm� H
��%$ %������
 �	������ ��

� � 
%��!��
 ���
	��!��,�� 
��$ %
� �� %����� '	��������� 
(�� �� ���'
���� 	�������
 �
 	�� 
	�$
��
���
 ��
 

 ���'
 ��� ��$���� ��'� ��
 ����� 

$���
 ���
 y %
� ���� x1, x2, ..., xm�
5�� 	���(
��� 
��������� %
�
�%�'�� ��
��� 
 ��

� � Lasso& 	�' ����$���%� 


�'��*
%$ ��� 	��������
� %�($�
��& %
� � Forward Stagewise ��
���%� 	
��
�������� <'���
�� ��� �������	�����%

 "��� 

 �����'������ ��
 '	��������%$ 
	�������� �������&
� ����+"������ ��/0��)�� �-+$�� (Least Angle Regression) � LARS�

+ 	�

%
� ��� ����
�� �

 ����� � 
 
	�������$� 
 ��
� ���'

� ��
 
���
��� 	�'
	$���'
 
	� ��
!��� /B.Efron, T.Hastie, I.Johnstone, R.T ibshirani (2004)0� 5�%

��

� �� !
��%�� ���
!����� 	�' �������%

 ��
 %
��


 
	� ��'� n = 442 ��
!���%���

���
���& �
" � ��
�����
� ���
!���� y �
�
%����)�� ��
 ������� ��� 
���
��
�� +� ��
*
�����%�� %����%

 

 %
�
�%�'$��'
 �

 ��
���� 	�' 

 	��!��	�� ��
 ���� ��� y �� !$��
�����
�� ����� � 
 ���
!���"
 x1, x2, ..., x10& ���� "��� 

 ���'
 
%��!��� 	��!��,���
��
 �����
��%��� 
���
��� �	 � �	���� %
� 

 �
 ��)�'
 	���� 
	� ��� �	������
��%��
���
!����� ��

� ���

��%�� 	
�$��
��� ��
 ��
 ������� ��� 
���
��
��

� .������ Lasso& �	 � ����'�� ���& ��

� ��
 	
�
��
�� ��� ������' � 
 ��
���� 

����
�"
 
 (OLS) %$� 
	� �

 	���������� 23�� x1, x2, ..., xm �
 ��

���
�
 ��%�'�
n �� �'
���"��� ��� 	
�
�������� ��
 %$����
 
	� ��� �	������
��%�� ���
!������ 1��
	
�$�����$ �
�& m = 10 %
� n = 442 �
" y ��

� �� ��$
'��
 � 
 ���"
 ��� ��
�����
��

��



9�

%
� ���- 23��'

 ��
 
���
��� 	�' 	$���'
 
	� ��
!��� PB.Efron& T.Hastie&
I.Johnstone& R.T ibshirani (2004)& Least Angle Regression& Annals of Statistics&
32(2), p.407 − 499K

���
!����� ��
 ��� n 	���	�"�����
C	�����'�� ��� �� �	������
��%�� ���
!����� ���'
 %

�
�%�	������ "��� 

 ������-

n∑
i=1

yi = 0,
n∑

i=1

xij = 0,
n∑

i=1

x2
ij = 1 /���0

��
 j = 1, 2, ...,m�

4� '	�,�(�� ��$
'��
 � 
 �'
������"
 	
��
�������� β̂ = (β̂1, β̂2, ..., β̂m)′ ��
��  �
	��!��,� �� ��$
'��
 μ̂-

μ̂ =
m∑

j=1

xjβ̂j = Xβ̂, /���0

�	�' X � n × m 	�

%
� (x1, x2, ..., xm)� 4� �'
���%� ����
� 
�%� �($��
 ��' y ����
��

�-

S(β̂) = ||y − μ̂||2 =
n∑

i=1

(yi − μ̂i)
2 /��=0

23�� T (β̂) � 
	��'�� 
���
 ��' β̂& ���
��-

T (β̂) =
m∑

j=1

|β̂j| /���0

� Lasso ��
����� �� β̂ 
'�� 	�' ��
�����	���� �� S(β̂) %
� �'����
 � � T (β̂) 

 ��

��	��
$�� ��
 ���� t� 5��
��-

��



⎧⎨
⎩

minimize S(β̂)

τ.ω. T (β̂) ≤ t

/��B0

1�� 
������� ��$(��
 ��' ����
��� ��� (
�
�
�
� ���� �� ������ β̂(t) ��� ������'

Lasso ��
 �� 	
�$�����$ �
�& 
	� �� ������ �	�' β̂ = 0 ����� �� t = 3460& �	�'

� �%������� β̂ �����
� �� ��
 OLS �%������� 9
�
������� ��� ��
 %$�� t < 3460&
%$	���� �'
�������� �
 ��

� ���� �� ;& �
" �� '	����	�� �
 ��

� 
	���� � ��%�������

	� ��
 
	���� � ������� ���� ��'�& ���
�� ��
 ���� � 
 OLS �%�����"
� <
 t =
1000 ��
 	
�$�����
& ��
� �� ���
!����� =&�&� %
� > �	
�
�'
 ��� ��
����� H��	�'��
���	�
 ��� � Lasso ���
�� 

 �'���%
"��� ��'� OLS �'
�������� 	��� �� ;& ����
�� 	�'
���"
�� �� �'
���%� ��
�	��$ ��' ��
����' 	
��
��������& $�
 !����"
�� ��
 
%��!��

��� 	��!��,��� 2+� �& 
'�$
��
� � ������,�
 ��' y�

1���
 ���- 3%������� � 
 1'
������"
 9
��
�������� ��
 Lasso %
� Stagewise
PB.Efron& T.Hastie& I.Johnstone& R.T ibshirani (2004)& Least Angle Regression&
Annals of Statistics& 32(2), p.407 − 499K

� Forward Stagewise ��

� ��
 �	


��	��%� ������� 	�' ��%�
$ �� μ̂ = 0 %
�
%
�
�%�'$)�� �� �'
$����� 	
��
�������� �� ��
����%$ !��
�
� <
 μ̂ ��

� � �%�������
��� y %
� c(μ̂) �� ��$
'��
 � 
 �'������� 
 � 
 �	������
��%"
 ���
!���"
 �� ��

�%���"��
� ���� ��� y& ���� ������-

>;



ĉ = c(μ̂) = X ′(y − μ̂) /���0

$�
 �� ĉj ��

� 

$���� ��� �'�������� ���
�� ��� xj %
� ��' �($��
��� ��� 	��!��,���
4� �	���
� !��
 �
�!$
��
� %
�$ �� �����'
�� ��� ���
������� �'���������

⎧⎨
⎩

ĵ = arg max |ĉj|

μ̂ → μ̂ + εsign(ĉĵ)xĵ

/��>0

�	�' � %$	��
 ��%�� ��
���$� � ??���$��@@ �	����� ε = |ĉĵ| ��� �'
��� Forward
selection ���
�%� �	���� 

 	��%
����� ��
 
	
���(� � 
 ���
!���"
 	�' ��

� �'*
��������
�� �� �� xĵ� 4� ���� ��$(��
 ��' ����
��� ��� 
	��%�
�)�� ��'� �'
��������
	�' �
�!$
�
�
� %
�$ �� Stagewise ������  � 	��� t ��
 �
 ������

 � 
 ��
!���%"


���
"
� 9
�
������� ��� �
 ��� ��
(��
�
 ��' ����
��� ��

� 	
�����
& 	
���� 	�'
�� �'
�������� ��� Lasso %
� ��� Stagewise '	�����)�
�
� ��
(�����%$�

4� !
��%� ������ ��' %�(
�
��' 
'��� ��

� ��� �� Lasso %
� Stagewise �������
��

� 	
�
��
��� ��
� ��
��%
��
�& ��� 9
��
�������� 3�$������ 6 
�
� (LARS) 	�'
	�����$(��
� 
��� � 	
�
%$� �

.5�5 ��'��� �!� LARS

� 9
��
������� 3�$������ 6 
�
� (LARS) ��

� ��
 	
�
��
�� ��� Stagewise ��
*
��%
��
� %
� �������	���� ��
 
	�� �
���
��%� ��
��%
��
 "��� 

 �	��
��
�� ��'� '*
	����������� .�
� m !��
�
 
	
����
�
� ��
 

 '	��������� �� 	����� ��
��� � 

���� 
& �	�' m ��

� �� 	����� � 
 �	������
��%"
 ���
!���"
�

� ������� ��� LARS %
�
�%�'$)�� �%������� μ̂ = Xβ̂& �� ��
����%$ !��
�
 %
� ��
%
��

 
	� 
'�$ 	��������
� ��
 ���
!���� ��� ��
����& ���� "��� ���$ 
	� k !��
�
&

��
� k 
	� �
 β̂j �
 ��

� ��*����
�%$� 4� 1���
 ��� 
	��%�
�)�� ��
 
�������� ���

	���	� �� �	�' m = 2 ���
!�����& ���
�� X = (x1, x2)� 1��
 	���	� �� 
'��& ��
�'��������� /���0 ��
��"
�
� ��
� 
	� ��
 	��!��� ȳ2 ��' y 	$
 ��� ��
���%� �"��
L(X) 	�' �����'�����
� 
	� ��� x1 %
� x2& %
� ��
�
�
� 
	� ��
 ��	�-

c(μ̂) = X ′(y − μ̂) = X ′(ȳ2 − μ̂) /���0

+ 
��������� ��%�
$ �� μ̂0 = 0� 1�� 1���
 ��� (
�
��
� ��� � � 
�
 	�' ����
��)��
� ȳ2 − μ̂0 �� �� x1 ��

� ��%������ 
	� 
'��
 	�' ����
��)�� �� �� x2& ���
�� c1(μ̂0) >
c2(μ̂0)� � LARS ���� %
��'��
�� �� μ̂0 %
�$ �� �����'
�� ��' x1& ��� -

μ̂1 = μ̂0 + γ̂1x1 /���0

� Stagewise ��
����� �� γ̂1 ��� �� %$	��
 ��%�� ���� ε %
� �	


�
�!$
�� �� ��
��%
*
��
 	����� (����� � 	
������� ������� Forward selection 	
��
�� �� γ̂1 
�%��$ ���$��
"��� �� μ̂1 

 ��
�� ��� �� �� ȳ1& ���
�� ��
 	��!��� ��' y ���
 L(X1)� � LARS �� �
�������	���� ��
 �'�%�%����
� ���� ��
 �� γ̂1� <'�� � ���� �
 ��

� �����
 "��� � ȳ2 − μ̂

>�



1���
 ���- + 
��������� LARS ���
 	���	� �� �	�' m = 2 PB.Efron& T.Hastie&
I.Johnstone& R.T ibshirani (2004)& Least Angle Regression& Annals of Statistics&
32(2), p.407 − 499K

�
 ���� �'������� �� �� x1 ��� �� 
'��
 	�' ���� �� �� x2� 5��
�� � ȳ2 − μ̂1 ���������
�� � 
�
 ���
�� x1 %
� x2& "��� c1(μ̂1) = c2(μ̂1)�

23�� u2 �� ��

��
�� ��$
'��
 	$
 ��� �������� 
'��� + �	���
�� LARS �%��*
����� �
 ��

�-

μ̂2 = μ̂1 + γ̂2u2 /���;0

�� �� γ̂2 �	������
� ���� "��� μ̂2 = ȳ2 ���
 	���	� �� �	�' m = 2� 6�
 m > 2& �� γ̂2

�
 ��

 ��%������ %
� �
 �������� �� ��
 $��� 
��
�� %
����'
���& �	 � (
�
��
� ���
1���
 ����

6�
 m > 2& � ������� LARS �������	���� ��!'*+�� "��+����)�& /equiangular
vectors) ��
�%���
�
� �� �������� u2 ��' 1���
��� ���� C	�����'�� ��� �
 ��

���
�

x1, x2, ..., xm ��

� ��
���%"� 

��$����
� <
 < �

 '	���
��� � 
 ���%�"
 {1, 2, ...,m}&
���)�'�� ��
 	�

%
-

XA = (.....sjxj.....)jεA /����0

�	�' �
 	�����
 sj ����
�
� �� ±1� 23�� -

⎧⎨
⎩

GA = X ′
AXA

HA = (1′AG−1
A 1A)−1/2

/����0

>�



�	�' 1A ��

� �

 ��

��
�� ��$
'��
 ��%�'� |A|& �	�' |A| �� 	����� � 
 ������� 
 ��'
<� 4� ����"
�� ��$
'��
-

uA = XAwA, wA = HAG−1
A 1A /���=0

��

� �� ��

��
�� ��$
'��
 	�' �����'���� ���� ������ � 
��� �� �
 ��

���
�
 	�'


���������
 ���� ������ ��' XA& ���
�� ��

� ������ "���-

X ′
AuA = HA1A, ||uA||2 = 1 /����0

1�� �'
����
& 	�����$(�'�� 	�� 


�'��%$ ��
 
�������� LARS� 2+	 � %
� ���
Stagewise ��
��%
��
& ��%�
$�� �� μ̂0 = 0 %
� �� %$�� !��
 '	�����)�'�� �� μ̂� 23�� 
��� μ̂A ��

� � ���� 
 LARS �%������� %
� ��� ��-

ĉ = X ′(y − μ̂A) /���B0

��

� �� ��$
'��
 � 
 �'������� 
 /���0� �+��'� ��+!�! � �
 �
��$)�'�� �� ��
���
	�' 	������� ��'� ���%��� 	�' 

���������
 ���� ���
!����� �� ��� 
	���� � ���
�������
�'���������-

⎧⎨
⎩

Ĉ = maxj{|cj|}

A = {j : |ĉj| = Ĉ}
/����0

23�� ���-

sj = sign{ĉj}, jεA /���>0

C	�����)�'�� ���� �
 XA, HA %
� uA 
	� ��� ������� /����0*/���=0 �	 � �	���� %
�
�� �� ����%� ��
���
�-

a ≡ X ′uA /����0

4� �	���
� !��
 ��' 
��������' LARS ���	�	���� �� μ̂A  � ����-

μ̂A+ = μ̂A + γ̂uA /����0

�	�'

γ̂ = min
jεAc

+{ Ĉ − ĉj

HA − aj

,
Ĉ + ĉj

HA + aj

} /���;0

4� ”min+” '	����%
��� ��� �� ��$����� �
�!$
��
� ��
� ���
�� � 
 ����%"
 �'
�*
�� �"
 ��
 %$�� �	����� ��' j�

+� ��	�� /����0 %
� /���;0 ���'
 ��
 
%���'�� ����
��
� 23�� -

μ(γ) = μ̂A + γuA /����0

>=



�� γ > 0� 4���& � 

�������� �'������� cj(γ) ��
��
� 
	� ��
 ��	�-

cj(γ) = x′
j(y − μ(γ)) = ĉj − γaj /����0

6�
 jεA& �� /����0*/����0 ��
�'
-

|cj(γ)| = Ĉ − γHA /���=0

"��� ���� �� �������� �����'��� �'��������� 

 ��
�'
 ����� 6�
 jεAc& ����"
�
�
� ���

/����0 %
� /���=0& 	��%�	��� ��� � cj(γ) 	
��
�� �� ������� ���� ��

 γ =
Ĉ−ĉj

HA−aj
� 2+���
&

� −cj(γ) ��
��
� ������� ���� ��

 γ =
Ĉ+ĉj

HA+aj
� 3	���
 �& �� γ̂ ���
 /���;0 ��

� �

��%������ ����%� ���� ��' γ "��� � 
��� ���%��� ĵ 

 �������� ��� �
���� ��
���� 4���
�� 
�� �
���� ��
��� �
 ��

� �� A+ = A

⋃
{ĵ} %
� � 
�
 
	���� � ���
������ �'�������

�
 ��

� � Ĉ+ = Ĉ − γ̂HA�
4� 1���
 ��= 
	��%�
�)�� �� ��
��%
��
 ��� ������' LARS ��
 �� 	
�$�����$ �
��

+ 	����� 
��������� ����$���%� ��
� m = 10 !��
�
& �� ��� ���
!����� 

 �������
�
�

��� �
���� ��
��� < %
�$ ��
 ���
 ����$ �� �� Lasso- =&�&�&>&���&�� +� �'
�������� β̂j

���$)�'
 	��� 
��$ ��
 ��

� ����� �� 
'���� � 
 Lasso %
� Stagewise ��� 1���
 ����

1���
 ��=- � ��
��%
��
 ��' 
��������' LARS ��
 �
 ������

 �
� PB.Efron&
T.Hastie& I.Johnstone& R.T ibshirani (2004)& Least Angle Regression& Annals of
Statistics& 32(2), p.407 − 499K

4� ���� ��$(��
 ��' 1���
��� ��= 
	��%�
�)�� ��� 
	��'��� �'���������-
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|ĉkj| = |x′
j(y − μ̂k−1)| /����0

��
 ��� ���
!����� j = 1, 2, ..., 10  � �'
$����� ��' k−����� !��
��� ��' 
��������'
LARS� � ������� �'�������-

Ĉk = max{|ĉkj|} = Ĉk−1 − γ̂k−1Hk−1 /���B0

���"
��
� %
�"� 
'�$
��
� �� k� 1� %$�� !��
& ��
 �� 
�
 ���
!���� j 	�' ��������
�
��� �
���� ��
��� �
 ������ |ĉkj| = Ĉk� 4
 	�����
 sj � 
 

������� 
 xj ���
 /����0
	
�
��
�'
 �
 ���
 ��� ��� �
���� ��
��� �������
�
� %� $���� ���%����

C	�����'�� �"�
 ��� � 
��������� LARS ���� �'�	���"��� �
 	�"�
 k− 1 !��
�
&
��
�
�
�  � �%������ �� μ̂k−1& %
� 	��� �$�� ��� k−���� !��
� 4� �
���� ��
��� Ak �

���� k �������
 �"�
 %
� �
 

���������
 �� 
'�� �'�%�%����
�� ����� ��
 �
 Xk, Gk, Hk

%
� uk �� �	���� '	�����)�
�
� 
	� ��� ������� /����0*/���=0� 23�� ȳk � 	��!��� ��' y
��� �"�� L(xk)� <(�� μ̂k−1εL(xk−1) �
 ������ ���-

ȳk = μ̂k−1 + XkG
−1
k X ′

k(y − μ̂k−1) = μ̂k−1 +
Ĉk

Hk

uk /����0

� ����'�
�
 ������
 �'
�	$���
� 
	� ��
 /���=0 %
� 
	� �� ����
�� ��� �� �'���������
� 
 ���
!���"
 � 
 �	�� 
 �� ���%��� 

�%�'
 ��� Ak ��

� ���� ���� �� Ĉk& ���
��-

X ′
k(y − μ̂k−1) = Ĉk1A /���>0

<(�� �� uk ��

� ��

��
�� ��$
'��
& � /����0 ����
�� ��� � ȳk − μ̂k−1 ���� ��%��-

γ̄k ≡ Ĉk

Hk

/����0

6�$(�
�
� �� ����� /����0  � μ̂k = μ̂k−1 + γ̂kuk %
� �'
�'$)�
�
� ��
 �� ��
 /����0
�� �� !�����
 ��� /����0& 	��%�	��� ��� � �%������� μ̂k !���%��
� ���
 �'���
 	�' ���)�'

�
 μ̂k−1 %
� ȳk& ���
��-

μ̂k − μ̂k−1 =
γ̂k

γ̄k

(ȳk − μ̂k−1) /����0

3�

� ��%��� 

 ����� ��� � γ̂k ��

� 	$
�
 ��%������ 
	� �� γ̄k& �	��� �� μ̂k !���%��
� 	��
%�
�$ ��� μ̂k−1 	
�$ ��� ȳk� 4� 1���
 ��� ����
�� ��'� ��
����%��� LARS �%�������
μ̂k 	$
�
 

 	����$)�'
 ��'� OLS �%������� ȳk 
��$ 	��� 

 ��
 ��'� (�$
�'
� � ��
�*
���� ��

� ��� ����'�
�� ��$���- �(���
 �� Am 	������� ���� ��� ���
!�����& � /���;0 ��

���)��
�� 1� 
'�� �� ������& � 
��������� �� ��� ��� γ̂m = γ̄m = Ĉm/Hm& $�
 μ̂m = ȳm

%
� � β̂m ��

� ���� �� ��
 OLS �%������ ��
 �� 	����� ��
��� � 
 m ���
!���"
�

>B
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 ���
������� ��
��$���� PB.Efron& T.Hastie&
I.Johnstone& R.T ibshirani (2004)& Least Angle Regression& Annals of Statistics&
32(2), p.407 − 499K
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 ����
�
 ��� %
� ��= �����

 ��� � Lasso& � Stagewise %
� � LARS �� �

 	
*
������'� �%�������� <'�� ��
 ��

� �'�	� �
��%� 
(�� �	 � �
 ����� 
��� � 	
�
%$*
� & 
	��� ���	�	������� ��' 
��������' LARS ��
�'
 ��'� �%������� ��� Lasso � ���
Stagewise� #
� �� ����� ������� �	����
 

 �� �����
  � 	��'!��
��%�� ��
��%
����&
�� �	���� �
�!$
�'
 '	:�,� ��'� ��� ���
!����� �� �� ���
������ �'�������� � LARS
%�
���
� 	��� ��
 %
����'
�� ��' ����"
��' ��

���
���& �
" �� Lasso %
� Stagewise
����'
 %$	���'� 	����������� �� 
'�� �� ���
����%�& �	 � �
 ����� 
��� � 	
�
%$� �

.5&5�5 � �0��� ��)�4� LARS ��� Lasso
+� ������ ��� ������' Lasso �	����
 

 !�����
 

 ���	�	�����'�� ��
 
��������

LARS  � ����- 23�� β̂ � ���� ��� Lasso& 	�' '	�����)��
� 
	� �� 	��!���
 /��B0 %
�

��
��  � �%������ �� ��$
'��
 μ̂ = Xβ̂� 4���& �� 	������ %$�� �� ����
�%�� �'
�������

β̂j 	��	�� 

 �'�( 
�� �� �� 	������ sj ��� �����'�
� �'�������� ĉj = x′
j(y−μ̂)& ���
��-

sign(β̂j) = sign(ĉj) = sj /��=;0

<'�� �������
�  � ����- 23�� SA � ��
�"
��� 	�

%
� �� �������
 �
 sj %
� < ��

�����
�
���� ��
���� 4���& � ����� μ̂ = Xβ̂& ��� � 
 ����� 
 /����0 %
� /���>0&

��$(��
� μ̂ = XASAβ̂� 6�$(�'�� �� 	��!���
 ��
�����	������ /��B0 �������	��"
�
�
�� Lagrange 	���
	�
��
���-

minimize
1

2
||y − XASAβ̂A||2 + λ

∑
A

sjβ̂j

9
��
�
�
� ���� �� %������� ��� 	�"��� 	
�
�"��'& 	��%�	��� ����%$ � �����-

>�



SAX ′
A(y − XASAβ̂A) = λSA1A

4� j−���� �������� �� � ��' 
�������� ����'� �����
� �� ĉj& �
" �� 

�������� ��'

������ ����'� �����
� �� λsign(β̂j)& ��
 j ∈ A� 3	����& λ = |ĉj| = Ĉ& �	��� 	��%�	��� �
)������
� ������

+ 
��������� LARS ��
 
	
���� ��
 	��������� /��=;0& 
��$& �	 � �
 ����� 	
�
%$*
� & �	���� ��%��
 

 ���	�	������ "��� 

 ��
 
	
����� 23�� ��� ���'�� �'�	���"���
�

 LARS !��
& �� �	��� �
� �� ��  � �
���� ��
��� �� < %
� ��� � 

���������

�%������� μ̂A 

��������� ��� ���� ��� Lasso μ̂ = Xβ̂� 23�� 

wA = HAG−1
A 1A /��=�0

�

 ��$
'��
 ��%�'� ���' �� �� 	����� � 
 ������� 
 ��' <� +��)�'��  � d̂ �� ��$*

'��
 ��%�'� m 	�' �����
� �� sjwAj

��
 jεA � �� ; ��
(�����%$� #�
����
�� 	���
��
 %
����'
�� ��' ����%�� 
������ γ %
�$ �� ��
��%
��
 /����0 ��� ������' LARS&
	
�
������� ���-

⎧⎨
⎩

μ(γ) = Xβ(γ)

βj(γ) = β̂j + γd̂j

/��=�0

��
 jεA� 3	���
 �& �� βj(γ) 
��$)�� 	������ ��

-

γj = −β̂j/d̂j, /��==0

%
� � 	�"�� 
��
�� �
 ��(

����� ���

γ̃ = min
γj>0

{γj} /��=�0

��� ��
 �� ���
!���� xj̃� 4� γ̃ �����
� �� �� $	���� ��2 ������� 

 ��
 '	$���� j ������
"��� γj > 0�

<
 γ̃ < γ̂& �	�' �� γ̂ ��
��
� 
	� ��
 /���;0& ���� � βj(γ) ��
 �	���� 

 ��

� ���� ���
Lasso 

 γ > γ̃ 
(�� � 	���������� /��=;0 	
�
!�$)��
� �	���� � βj̃(γ) 
��$)�� 	������
�
" �� cj̃(γ) ��
 
��$)��� /� �'
���� �'
$����� cj̃(γ) ��
 �	���� 

 
��$��� 	������

�� �

 LARS !��
& 
(�� |cj̃(γ)| = Ĉ − γHA > 00�

Lasso �����������- <
 γ̃ < γ̂& ��
�$�
 �� �	���
� !��
 ��� ������' LARS ���
������ �	�' γ̃ = γ̂ %
� 
	$���,� �� j̃ 
	� ��
 '	�������� ��' �	���
�' ����"
��'
��

���
���� 5��
��-

μ̂A+ = μ̂A + γ̃uA, A+ = A − {j̃}, /��=B0
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 	�����%� ��� Lasso ���	�	������& %
� '	�����
�
� ��
 ?? �

 �� (��$@@ �'
*

��%� 	�' 	�����$(��
� 	
�
%$� & � 
��������� LARS ��
�� ���� ��� ������ ��� Lasso�
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	������'�� �� ��"���
& ��
�'�� ��� ����
�
 	�' �������	����
�
� ���
 
	�*
������ C	�����'�� ��� � 
��������� LARS ���� �'�	���"��� k− 1 !��
�
& ��
�
�
�  �
�%������ ��
 μ̂k−1 %
� �
���� ��
��� �� Ak& �
" �� xk ��

� � 	�� 	���(
�� ���
!����
	�' ������� ��� ��
�����


(��� �

<
 �� xk ��

 � ��

��%� ���
!���� 	�' ������� ��� �
���� ��
��� ��� (k−1)−����

!��
& ���� � k−���� �'
���"�
 wkk ��' ��

���
��� wk = HkG
−1
k 1k& �� 

�������� �*

���"
�� ��$
'��
 �� uk = Xkwk& ���� �� ���� 	������ �� ��
 �����'�
 �'�������

ckk = x′
k(y− μ̂k−1)� 3	�	���
& � k−���� �'
���"�
 β̂kk ��' ��

���
��� β̂k& �� �%������

�� μ̂k = Xβ̂k& ���� �� ���� 	������ �� �� ckk �

1�� �'
����
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 �'�!�����'�� �� SA �� ��
���-

SA = {v =
∑
j∈A

sjxjPj :
∑
j∈A

Pj = 1}

���'�� �� 	
�
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�


(��� &

4� ������ ��' SA 	�' !���%��
� 	�� %�
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 ��

� ��-

vA = HAuA = HAXAwA = HAXAHAG−1
A 1A

�� �	��� ���� ��%�� ||vA|| = HA� <
 A ⊆ B& ��
 %$	��� ��
��� ���%�"
 H& ����
HA ≥ HB& �
" � ���� HA = 1 ��

� � ������� �'

�� %
� �	��'��$
��
� ��

 �� �
����
��
��� < 	������� �

 ��
� ���������

4� ����
 
	����%
���
� �� 
	�� �(
����� ��' %�������' ��� 	�"��� 	
�
�"��' %
�
��' Lagrange 	���
	�
��
���� �

1�� �'
����
& ���)�'�� �
 ��
��
 A1 = {j : β̂j �= 0}& A0 = {j : β̂j = 0 %
� |ĉj| = C}
%
� A10 = A1∪A0 %
� ����'�� � 	����������� ���
 �	����� ��' �
����� �'
���' < %
�$
�� ��
��%
��
 Lasso�

�	������
�� ($ A1 ⊆ A�
�	������
�� %$ A ⊆ A10�
�	������
�� '$ 6�
 �� wA = HAG−1

A 1A& ������ sign(wj) = sign(ĉj)& ∀j ∈ A0�
�	������
�� ,$ 4� < ��
�����	���� �� HA�
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� �� ��
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(μ̂i − μi)
2 = (yi − μ̂i)

2 − (yi − μi)
2 + 2(μ̂i − μi)(yi − μi)
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������'��  � 	��� i& ���'��-

E{||μ̂ − μ||2
σ2

} = E{||y − μ̂||2
σ2

− n} + 2
n∑

i=1

cov(μ̂i, yi)/σ
2 /����0

+ ����'�
��� ���� ��� /����0 
	������ ��'� !
����� ���'����
� ��
 �

 �%������
μ̂ = g(y)& ���
��-

dfμ,σ2 =
n∑

i=1

cov(μ̂i, yi)/σ
2 /���=0

�
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��
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Cp(μ̂) =
||y − μ̂||2

σ2
− n + 2dfμ,σ2 /����0
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 ��-

y∗ ∼ N(μ̄, σ̄2), μ̂∗ = g(y∗) /���B0
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ˆcovi =

∑B
b=1 μ̂∗

i (b)[y
∗
i (b) − y∗

i (.)]

B − 1

�	�' y∗(.) =
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 �� OLS �%�������� + ��	�� �(
���)��
� ��
� ��
 �� LARS 
��$ ��� %
�
��
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|y|(1) ≥ |y|(2) ≥ . . . ≥ |y|(n) ≥ |y|n+1 := 0

4���& � k−����� �%������� ��� LARS �� 0 ≤ k ≤ n& ��
��
� 
	� �� �����-

μ̂k,i(y) = {
yi − |y|(k+1), 

 yi > |y|(k+1)

0& 

 yi ≤ |y|(k+1)

yi − |y|(k+1)& 

 yi < −|y|(k+1)
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ŶCV = Xβ̂CV = 0.444X3+0.197X5+0.273X6+0.397X9−0.128X10+0.195X11−0.151X12+0.212X13
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